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UPSC CSAT – 2022
निम्ननिनित 3 (तीि) प्रश््नाांशोों के निए निर्देशो:

निम्ननिनित र्ो परिच््छछेर्ों को पनिए औि उिके िीचे 
आिे व्नािे प्रश््नाांशोों के उत्ति र्ीनिए। इि प्रश््नाांशोों के निए 
आपके उत्ति केवि इि परिच््छछेर्ों पि ही आध्नारित होिे 
च्नानहए।

परिच््छछेर्-1 म्नािव नवक्नास की प्रगनत बि्नाए िििे के 
स्नामिे सबसे बड़्ना िति्ना इस रूप में नर्ि्नाई र्ेत्ना है नक 
उत्प्नार्ि औि उपभोग के स्वरूप में नर्िोनर्ि 
अध्नािणीयत्ना बिती ि्ना िही है। वत्तम्नाि उत्प्नार्ि मॉडि 
िीव्नाश्म ईंधिों पि बहुत अनधक निभ्ति हैं। अब हम 
ि्नािते हैं नक यह स्वरूप अध्नािणीय है, क्योंनक ये 
सांस्नाधि सीनमत हैं। म्नािव नवक्नास को सही अर्थथों में 
ध्नािणीय बि्नािे के निए आनर्थ्तक सांवृनधि औि ग्ीिह्नाउस 
गैस उत्सि्ति के बीच की घनिष््ठ सांबधित्ना को पृर्थक् 
कििे की िरूित है। कु्छ नवकनसत र्ेशोों िे पुिच्तक्रण ( 
िीस्नाइक्क्िांग) क्ना प्रस्नाि कि औि स्नाव्तिनिक परिवहि 
तर्थ्ना आध्नारिक सांिचि्ना में निवेशो कि इिके अनत 
र्ुष्प्रभ्नावों को कम किि्ना आिांभ कि नर्य्ना है। नकन्तु 
अनधक्नाांशो नवक्नासशोीि र्ेशोों को परिष्ककृत ऊि्ना्त स्ोत की 
ऊँची कीमतों औि अल्प उपिब्धत्ना के क्नािण ब्नाध्नाओं 
क्ना स्नामि्ना किि्ना पड़ िह्ना है। नवकनसत र्ेशोों को च्नानहए 
नक वे नवक्नासशोीि र्ेशोों के ध्नािणीय म्नािव नवक्नास की 
ओि ि्नािे में सह्नायक बिें।

Q 1. निम्ननिनित में से नकसके/नकिके क्नािण उत्प्नार्ि के 
स्वरूप में अध्नािणीयत्ना है?

1. जीवाश््म ईंधनोों पर भारी ननोभ्भरता 
2. संसाधनोों की सीन्मत उपलब्धता
3. पुनोर््भक्रण का प्रसार

िीचे नर्ए गए कूट क्ना प्रयोग कि सही उत्ति चुनिए ।

(a) केवल 1 और 2
(b) केवल 2
(c) केवल 1 और 3
(d) 1, 2 और 3

Q 2. निम्ननिनित कर्थिों पि नवच्नाि कीनिए:

नवकनसत र्ेशो नवक्नासशोीि र्ेशोों के ध्नािणीय म्नािव 
नवक्नास की ओि ि्नािे में सह्नायक हो सकते हैं

1. क्म लागत पर पररष्ककृत ऊजा्भ स्रोत उपलब्ध करा कर 

2. उनोके साव्भजननोक पररवहनो के सुधार के नलए नोा्म्मात्र 
ब््याज दरों पर ऋण उपलब्ध करा कर

3. उन्हें अपनोे उत्पादनो और उपभरोग के स्वरूपों करो बदलनोे 
के नलए प्ररोत्सानहत कर

उपयु्तक्त कर्थिों में से कौि-स्ना /से सही है/हैं?

(a) केवल 1 

(b) केवल 1 और 2

(c) केवल 2 और 3 

(d) 1, 2 और 3

परिच््छछेर्-2 िब तक उि शोक्क्तयों औि प्रवृनत्तयों को, िो 
र्ेशो के पय्ना्तविण को िष्ट कििे के निए उत्तिर््नायी हैं, 
निकट भनवष्य में नियांनरित िहीं नकय्ना ि्नात्ना, औि 
अि्नाच््छ्नानर्त क्ेरिों में वृहद् पैम्नािे पि वििोपण आिांभ 
िहीं नकय्ना ि्नात्ना, नवषम ििव्नायु र्शो्नाएँ औि पवि तर्थ्ना 
िि के द््नाि्ना होिे व्नाि्ना भू-क्िण इस सीम्ना तक बि 
ि्नाएग्ना नक धीिे-धीिे ककृनष, िो हम्नािे िोगों क्ना मुख्य 
आध्नाि है, असांभव हो ि्नाएगी। नवश्व के मरुस्र्थिीय र्ेशो 
औि ि्नािस्र्थ्नाि के हम्नािे अपिे मरु प्रर्ेशो, वृहद् पैम्नािे पि 
हुए विोन्मूिि के र्ुष्परिण्नामों की भय्नावह य्नार् नर्ि्नाते 
हैं। मरु सर्ृशो भू-र्ृश्य अब गांग्ना- सतिुि के मैर््नािों 
औि र्क्कि प्ठ्नाि समेत र्ेशो के अन्य भ्नागों में अिेक 
स्र्थ्नािों पि नर्ि्नाई र्ेिे िगे हैं। िह्नाँ कु्छ ही र्शोक पूव्त 
ब्नािहम्नासी सरित्नाओं औि सोतों के स्नार्थ हिे-भिे वि 
हुआ किते र्थे, वह्नाँ अब, नसर््फ वष्ना्त ऋतु को ्छोड़कि, 
सूिी सरित्नाएँ औि सूिे सोते, औि हरिय्नािी से रिक्त 
भूिे मैर््नाि नर्ि्नाई र्ेते हैं । 
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Directions for the following 3 (three) items: 

Read the following two passages and 
answer the items that follow the passages. 
Your answers to these items should be 
based on the passages only.

Passage-1 The main threat to maintaining 
progress in human development comes 
from the increasingly evident 
unsustainability of the production and 
consumption patterns. Current 
production models rely heavily on fossil 
fuels. We now know that this is 
unsustainable because the resources are 
finite. The close link between economic 
growth and greenhouse gas emissions 
needs to be severed for human 
development to become truly sustainable. 
Some developed countries have begun to 
alleviate the worst effects by expanding 
recycling and investing in public 
transport and infrastructure. But most 
developing countries are hampered by 
the high costs and low availability of 
clean energy sources. Developed 
countries need to support developing 
countries' transition to sustainable 
human development.

Q 1. Unsustainability in production pattern is 
due to which of the following?
1. Heavy dependence on fossil fuels
2. Limited availability of resources
3. Expansion of recycling

Select the correct answer using the code 
given below.

(a) 1 and 2 only
(b) 2 only
(c) 1 and 3 only 
(d) 1, 2 and 3

Q 2. Consider the following statements:

Developed countries can support 
developing countries' transition to 
sustainable human development by
1. making clean energy sources available 

at low cost 
2. providing loans for improving their 

public transport at nominal interest rates. 
3. encouraging them to change their 

production and consumption patterns
Which of the statements given above is/
are correct?
(a) 1 only 
(b) 1 and 2 only
(c) 2 and 3 only
(d) 1, 2 and 3

Passage-2 Unless the forces and 
tendencies which are responsible for 
destroying the country's environment 
are checked in the near future and 
afforestation of denuded areas is taken 
up on a massive scale, the harshness of 
the and water will increase to such an 
extent that agriculture, which is the 
mainstay of our people, will gradually 
become impossible. The desert countries 
of the world and our own desert areas in 
Rajasthan are a grim reminder of the 
consequences of large-scale 
deforestation. Pockets of desert-like 
landscape are now appearing in other 
parts of the country including the Sutlej-
Ganga Plains and the Deccan Plateau. 
Where only a few decades back there 
used to be lush green forests with 
perennial streams and springs, there is 
only brown earth, bare of vegetation, 
without any water in the streams and 
springs except in the rainy season.
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Q 3. उपयु्तक्त परिच््छछेर् के अिुस्नाि, विोन्मूिि औि 
अि्नाच््छ्नार्ि के अांततोगत्व्ना निम्ननिनित में से क्य्ना 
परिण्नाम होंगे?

1. 1. ्मृदा संसाधनो का क्षरण

2. 2. आ्म आद्मी के नलए ज्मीनो की क्मी

3. 3. ककृनि के नलए जल की क्मी

िीचे नर्ए गए कूट क्ना प्रयोग कि सही उत्ति चुनिए ।

(a) केवल 1 और 2
(b) केवल 2 और 3
(c) केवल 1 और 3
(d) 1, 2 और 3

Q 4. अिुक्रम 20, 10, 10, 15, 30, 75, X में X क्ना म्नाि क्य्ना 
है?

(a) 105
(b) 120
(c) 150
(d) 225

Q 5. नकसी पहच्नाि परि की सांख्य्ना ABCDEFG है, नकन्तु 
आवश्यक िहीं नक इसी क्रम में हो, िह्नाँ हि वण्त नकसी 
नभन्न अांक (केवि 1, 2, 4, 5, 7, 8, 9) को निरूनपत 
कित्ना है। यह सांख्य्ना अांक 9 से नवभ्नाज्य है। र््नानहिे से 
पहि्ना एक अांक नमट्नािे पि, परिण्नामी सांख्य्ना अांक 6 से 
नवभ्नाज्य है। मूि सांख्य्ना के र््नानहिे से र्ो अांकों को नमट्नािे 
पि परिण्नामी सांख्य्ना अांक 5 से नवभ्नाज्य है। मूि सांख्य्ना 
के र््नानहिे से तीि अांकों को नमट्नािे पि परिण्नामी सांख्य्ना 
अांक 4 से नवभ्नाज्य है। मूि सांख्य्ना के र््नानहिे से च्नाि अांकों 
को नमट्नािे पि परिण्नामी सांख्य्ना अांक 3 से नवभ्नाज्य है। 
मूि सांख्य्ना के र््नानहिे से प्नाँच अांकों को नमट्नािे पि 
परिण्नामी सांख्य्ना अांक 2 से नवभ्नाज्य है। निम्ननिनित में 
से कौि-स्ना, इस सांख्य्ना के बीचोबीच तीि अांकों के योग 
क्ना सांभव म्नाि है?

(a) 8
(b) 9
(c) 11
(d) 12

Q 6. 6. र्ो नमरि X औि Y र्ौड़ि्ना शोुरू किते हैं औि वे एक 
स्नार्थ 50m तक एक ही नर्शो्ना में र्ौड़कि एक नबन्र्ु पि 
पहुँचते हैं। X र््नानहिे मुड़कि 60m र्ौड़त्ना है, िबनक Y 
ब्नाएँ मुड़कि 40m र्ौड़त्ना है। इसके ब्नार् X ब्नाएँ मुड़कि 
50m र्ौड़कि रुक ि्नात्ना है, िबनक Y र््नानहिे मुड़कि 
50m र्ौड़कि रुक ि्नात्ना है। अब र्ोिों नमरि एक-र्ूसिे से 
नकतिी र्ूि हैं?

(a) 100 m 
(b) 90 m
(c) 60 m
(d) 50 m

Q 7. निम्ननिनित में से िूि 2099 के नकस नर्ि्नाांक को 
िनवव्नाि होग्ना?

(a) 4
(b) 5
(c) 6
(d) 7

Q 8. ₹1,840 के एक नबि क्ना ₹50, ₹20 औि ₹10 मूल्यवग्त के 
िोटों में भुगत्नाि नकय्ना ि्नात्ना है। कुि नमि्नाकि 50 िोट 
क्नाम में आए। निम्ननिनित कर्थिों पि नवच्नाि कीनिए:

1. 50 वाले 25 नोरोट का्म ्में आए और शेि भुगतानो ₹20 
वाले और ₹10 वाले नोरोटों ्में नक्या ग्या।

2. ₹20 वाले 35 नोरोट का्म ्में आए और शेि भुगतानो ₹50 
वाले और ₹10 वाले नोरोटों ्में नक्या ग्या।

3. ₹10 वाले 20 नोरोट का्म ्में आए और शेि भुगतानो ₹50 
वाले और ₹20 वाले नोरोटों ्में नक्या ग्या।

उपयु्तक्त कर्थिों में से कौि-से सही िहीं हैं ?

(a) केवल 1 और 2
(b) केवल 2 और 3
(c) केवल 1 और 3
(d) 1, 2 और 3

Q 9. 240, 321, 418 औि 812 में से कौि-सी सांख्य्ना िघुतम है?

(a) 240

(b) 321

(c) 418

(d) 812
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Q 3. According to the passage given above, 
deforestation and denudation will ultimately 
lead to which of the following?
1. Depletion of soil resource
2. Shortage of land for the common man
3. Lack of water for cultivation
Select the correct answer using the code 
given below.
(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1, 2 and 3

Q 4. What is the value of X in the sequence 20, 
10, 10, 15, 30, 75, X?
(a) 105
(b) 120
(c) 150
(d) 225

Q 5. An Identity Card has the number ABCDEFG, 
not necessarily in that order, where each 
letter represents a distinct digit (1, 2, 4, 5, 7, 
8, 9 only). The number is divisible by 9. 
After deleting the first digit from the 
right, the resulting number is divisible by 
6. After deleting two digits from the right 
of original number, the resulting number 
is divisible by 5. After deleting three 
digits from the right of original number, 
the resulting number is divisible by 4. 
After deleting four digits from the right 
of original number, the resulting number 
is divisible by 3. After deleting five digits 
from the right of original number, the 
resulting number is divisible by 2. Which 
of the following is a possible value for the 
sum of the middle three digits of the number? 
(a) 8
(b) 9
(c) 11
(d) 12

Q 6. Two friends X and Y start running and 
they run together for 50 m in the same 
direction and reach a point. X turns right 
and runs 60 m, while Y turns left runs and 
runs 40 m. Then X turns left and runs 50 m 
and stops, while Y turns right and runs 50 
m and then stops. How far are the two 
friends from each other now? 
(a) 100 m
(b) 90 m
(c) 60 m
(d) 50 m

Q 7. Which date of June 2099 among the 
following is Sunday?
(a) 4
(b) 5
(c) 6
(d) 7

Q 8. A bill for ₹1,840 is paid in the denominations 
of ₹50, ₹20 and ₹10 notes. 50 notes in all are 
used. Consider the following statements:
1. 25 notes of ₹50 are used and the remaining 

are in the denominations of ₹20 and ₹10.
2. 35 notes of ₹20 are used and the remaining 

are in the denominations of ₹50 and ₹10.
3. 20 notes of ₹10 are used and the remaining 

are in the denominations of ₹50 and ₹20. 
Which of the above statements are not 
correct?
(a) 1 and 2 only 
(b) 2 and 3 only
(c) 1 and 3 only
(d) 1, 2 and 3

Q 9. Which number amongst 240, 321, 418 and 812 
is the smallest?

(a) 240  
(b) 321

(c) 418 
(d) 812
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Q 10. अांक 1 से 9, तीि पांक्क्तयों में इस प्रक्नाि व्यवक्स्र्थत नकए 
गए हैं नक प्रत्येक पांक्क्त में तीि अांक हैं, औि र्ूसिी पांक्क्त 
में बिी सांख्य्ना पहिी पांक्क्त में बिी सांख्य्ना की र्ोगुिी है; 
औि तीसिी पांक्क्त में बिी सांख्य्ना पहिी पांक्क्त में बिी 
सांख्य्ना की तीि गुिी है। नकसी अांक को र्ो ब्नाि िििे की 
अिुमनत िहीं है। यनर् च्नाि अांकों 2, 3, 7 औि 9 में से 
केवि तीि अांकों को पहिी पांक्क्त में व्यवक्स्र्थत कििे की 
अिुमनत हो, तो इि तीि पांक्क्तयों में व्यवक्स्र्थत कििे के 
निए ऐसे नकतिे सांयोिि सांभव हैं?

(a) 4

(b) 3

(c) 2

(d) 1

निम्ननिनित 4 (च्नाि ) प्रश््नाांशोों के निए निर्देशो : 
निम्ननिनित र्ो परिच््छछेर्ों को पनिए औि उिके िीचे 
आिे व्नािे प्रश््नाांशोों के उत्ति र्ीनिए। इि प्रश््नाांशोों के निए 
आपके उत्ति केवि इि परिच््छछेर्ों पि ही आध्नारित होिे 
च्नानहए।

परिच््छछेर्- 'िूते ग्नाँ्ठिे िैसे स्नाध्नािण से क्नाम के निए हम 
सोचते हैं नक कोई नवशोेष प्रनशोक्ण प्र्नाप्त व्यक्क्त ही हम्नािे 
इस क्नाम को कि सकेग्ना, िेनकि ि्नाििीनत में हम म्नाि 
िेते हैं नक हि कोई िो मत ( वोट) प्र्नाप्त किि्ना ि्नाित्ना है, 
वह ि्नाज्य क्ना शो्नासि किि्ना ि्नाित्ना है। बीम्नाि पड़िे पि 
हमें एक प्रनशोनक्त नचनकत्सक की आवश्यकत्ना होती है, 
निसकी नडग्ी उसकी ि्नास तैय्नािी औि तकिीकी क्मत्ना 
की ग्नािांटी होती है— हम्नािी ति्नाशो यह िहीं होती नक 
नचनकत्सक सबसे सुांर्ि हो, य्ना सबसे अच््छ्ना वक्त्ना हो तो 
नर्ि, िब पूि्ना ि्नाज्य ही बीम्नाि है, तो क्य्ना हमें इसकी 
ति्नाशो िहीं होिी च्नानहए नक हमें सबसे बुनधिम्नाि औि 
सबसे उत्तम व्यक्क्त की सेव्ना औि म्नाग्तर्शो्ति नमिे?"

Q 11. निम्ननिनित कर्थिों में स े कौि-स्ना एक इस परिच््छछेर् के 
ििेक के सांरे्शो को सववोत्तम रूप में प्रनतनबक््बबत कित्ना ह?ै
(a) ह्म ्मानो लेते हैं नक गणतंत्र ्में करोई भी राजनोीनतज्ञ देश 

का शासनो र्लानोे के ्यरोग््य है।

(b) राजनोीनतज्ञों करो प्रशासनो ्में प्रनशनक्षत लरोगों ्में से र्ुनोा 
जानोा र्ानहए।

(c) ह्में करोई ऐसी पद्धनत सरोर् ननोकालनोे की जरूरत है, 
नजससे साव्भजननोक पद से अ्यरोग््यता करो दूर रखा जा 
सके।

(d) र्ूँनक ्मतदाता अपनोे प्रशासकों करो र्ुनोते हैं, राज््य का 
प्रशासनो करनोे की राजनोीनतज्ञों की ्यरोग््यता पर प्रश्न नोहीं 
उठा्या जा सकता।

परिच््छछेर्-2 गिीबी िेि्ना नित्नाांत असांतोषििक हो ि्नाती 
है, िब यह समझिे की ब्नात आती है नक भ्नाित में गिीबी 
क्ना प्रस्नाि कह्नाँ तक है। यह केवि इसनिए िहीं है नक 
इसकी परिभ्नाष्ना बहुत ही सांकीण्त है नक 'गिीब कौि है' 
औि गिीब की गणि्ना कििे की नक्रय्ना-पधिनत नवव्नार््नास्पर् 
है, बक्ल्क यह इसके अांर्ि निनहत अपेक््नाककृत अनधक 
मूिभूत ध्नािण्ना के क्नािण है। यह गिीबी को अपय्ना्तप्त 
आय य्ना अपय्ना्तप्त क्रयशोक्क्त के रूप में समझिे पि 
अिन्य रूप से निभ्ति है। इसे बेहति रूप में आय-निध्तित्ना 
कहकि वगगीककृत नकय्ना ि्ना सकत्ना है। यनर् गिीबी 
अांततोगत्व्ना उि चीिों से वांनचत होि्ना है, िो मिुष्य के 
सुि - स्व्नास््थ्य को प्रभ्नानवत किती हैं, तो आय-निध्तित्ना 
इसक्ना केवि एक पहिू है । िीवि निध्तित्ना, हम्नािे 
नवच्नाि में, नसर््फ वह कंग्नािी की र्शो्ना में िहीं है, निसमें 
व्यक्क्त व्नास्तव में िहत्ना है, नकन्तु र्ूसिी तिह के िीवि के 
नवकल्प चुििे के निए व्नास्तनवक अवसि के अभ्नाव में 
भी है िो स्नाम्नानिक ब्नाध्नाओं औि स्नार्थ ही स्नार्थ 
वैयक्क्तक परिक्स्र्थनतयों द््नाि्ना प्रर्त्त है। निम्न आय की 
प्र्नासांनगकत्ना, अपिे प्नास कम चीिों क्ना होि्ना, औि वे 
अन्य पहिू भी निन्हें म्नािक रूप से आनर्थ्तक निध्तित्ना के 
रूप में र्ेि्ना ि्नात्ना है, अांततोगत्व्ना स्नाम्थ्य्त को कम कििे 
की, अर्थ्ना्तत् निि चीिों के नवकल्प चुििे से िोग 
नवनवधत्नापूण्त औि मूल्यव्नाि िीवि िीते हैं, उन्हें 
अत्यनधक सीनमत कि र्ेिे की उिकी भूनमक्ना से सांबांनधत 
होते हैं।
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Q 10. The digits 1 to 9 are arranged in three 
rows in such a way that each row 
contains three digits, and the number 
formed in the second row is twice the 
number formed in the first row; and the 
number formed in the third row is thrice 
the number formed in the first row. 
Repetition of digits is not allowed. If only 
three of the four digits 2, 3, 7 and 9 are 
allowed to use in the first row, how many 
such combinations are possible to be 
arranged in the three rows?

(a) 4 

(b) 3

(c) 2  

(d) 1

Directions for the following 4 (four) 
items:

Read the following two passages and 
answer the items that follow the 
passages. Your answers to these items 
should be based on the passages only.

Passage-1 'In simple matters like shoe-
making, we think only a specially trained 
person will serve our purpose, but in 
politics, we presume that everyone who 
knows how to get votes knows how to 
administer a State. When we are ill, we 
call for a trained physician, whose 
degree is a guarantee of specific 
preparation and technical competence-
we do not ask for the handsomest 
physician, or the most eloquent one well 
then, when the whole State is ill should 
we not look for the service and guidance 
of the wisest and the best?'

Q 11. Which one of the following statements 
best reflects the message of the author of 
the passage?

(a) We assume that in a democracy, any 
politician is qualified to administer a State.

(b) Politicians should be selected from those 
trained in administration.

(c) We need to devise a method of barring 
incompetence from public office.

(d) As voters select their administrators, 
the eligibility of politicians to administer 
a State cannot be questioned.

Passage-2 The poverty line is quite 
unsatisfactory when it comes to grasping 
the extent of poverty in India. It is not 
only because of its extremely narrow 
definition of who is poor' and the 
debatable methodology used to count the 
poor, but also because of a more 
fundamental assumption underlying it. 
It exclusively relies on the notion of 
poverty as insufficient income or 
insufficient purchasing power. One can 
better categorize it by calling it income 
poverty. If poverty is ultimately about 
deprivations affecting human well-
being, then income poverty is only one 
aspect of it. Poverty of a life, in our view, 
lies not merely in the impoverished state 
in which the person actually lives, but 
also in the lack of real opportunity given 
by social constraints as well as personal 
circumstances-to choose other types of 
living. Even the relevance of low incomes, 
meagre possessions, and other aspects of 
what are standardly seen as economic 
poverty relate ultimately to their role in 
curtailing capabilities, i.e., their role in 
severely restricting the choices people 
have to lead variable and valued lives.
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Q 12. भ्नाित में अपि्नाई गई 'गिीब' की गणि्ना की नक्रय्ना-पधिनत 
नवव्नार््नास्पर् क्यों है?
(a) इसके बारे ्में थरोड़ी उलझनो है नक कौनो-सी र्ीजें 'गरीबी 

रेखा' करो बनोाती हैं।
(b) ग्ा्मीण और शहरी गरीब की दशा के बीर् बहुत अनधक 

अस्मानोताएँ हैं।
(c) आ्य-ननोध्भनोता ्मापनोे का करोई एकस्मानो नवश्वव््यापी 

्मानोक नोहीं है।
(d) ्यह गरीबी करो अप्या्भप्त आ्य ्या अप्या्भप्त क्र्यशक््तत के 

रूप ्में प्रस्तुत करनोे पर आधाररत है।

Q 13. आय-निध्तित्ना 'गिीब' की गणि्ना की एकम्नारि म्नाप क्यों ह?ै

(a) ्यह अन््य सभी की उपेक्षा कर केवल एक प्रकार के 
वंर्नो की बात करती है।

(b) ्मानोव जीवनो ्में अन््य वंर्नोाओं का क्र्यशक््तत की क्मी 
से कुछ भी लेनोा-देनोा नोहीं है।

(c) आ्य-ननोध्भनोता करोई स्था्यी दशा नोहीं है, ्यह स्म्य-
स्म्य पर बदलती रहती है।

(d) आ्य-ननोध्भनोता ्मानोवी्य नवकल्प र््यनो करो नकसी खास 
स्म्य पर आकर ही सीन्मत करती है।

Q 14. 'िीवि निध्तित्ना' से िेिक क्ना क्य्ना त्नात्पय्त है?

(a) ्मानोव जीवनो ्में वे सभी वंर्नोाएँ जरो केवल आ्य की 
क्मी से ही नोहीं, बक्ल्क वास्तनवक अवसरों की क्मी से 
उत्पन्न हरोती हैं

(b) ग्ा्मीण और शहरी क्षते्रों ्में गरीब लरोगों की कंगाली की दशा
(c) नवनवध व््यक््ततगत पररक्स्थनत्यों ्में छूटे हुए अवसर
(d) ्मानोव जीवनो ्में वस्तुपरक, साथ ही साथ अवस्तुपरक 

वंर्नोाएँ, जरो ्मनोुष््य के नवकल्प-र््यनो करो स्था्यी रूप से 
सीन्मत कर देती हैं।

Q 15. X औि Y, 300 m ि्बबे वृत्तीय म्नाग्त में र्ौड़ते हुए 3 km 
की र्ौड़ िग्नाते हैं। उिकी च्नाि 3 : 2 के अिुप्नात में है। 
अगि उन्होंिे एक-स्नार्थ एक ही नर्शो्ना में र्ौड़ शोुरू की है, 
तो नकतिी ब्नाि पहि्ना व्यक्क्त, र्ूसिे व्यक्क्त के प्नास से 
गुििेग्ना (र्ौड़ शोुरू कििे की क्स्र्थनत को प्नास से गुिििे में 
िहीं नगि्ना गय्ना है) ?

(a) 2
(b) 3
(c) 4
(d) 5

Q 16. यनर् अांग्ेिी वण्तम्नाि्ना के क्रम को उल्ट्ना कि नर्य्ना ि्नाए 
औि िए क्रम में आय्ना हि वण्त उस वण्त को निरूनपत किे 
निसक्ना मूि स्र्थ्नाि उसिे निय्ना है, तो निम्ननिनित में से 
कौि-स्ना एक 'LUCKNOW' को निरूनपत कित्ना है?

(a) OGXPMLD 
(b) OGXQMLE
(c) OFXPMLE
(d) OFXPMLD

Q 17. 150 प्रनतयोनगयों व्नािी नकसी शोतिांि टूि्ना्तमेंट में िब-
िब कोई निि्नाड़ी ब्नािी ह्नाित्ना है, उसे ब्नाहि कि नर्य्ना 
ि्नात्ना है। यह निक्श्चत नकय्ना गय्ना है नक कोई भी ब्नािी 
बि्नाबिी (ट्नाई/ड्ॉ) पि निणगीत िहीं होगी। इस पूिे टूि्ना्तमेंट 
में नकतिी ब्नानिय्नाँ िेिी गईं?

(a) 151 
(b) 150 
(c) 149
(d) 148 

Q 18. 3 अांक की नकतिी धिपूण्त सांख्य्नाएँ (अांकों क्ना प्रयोग 
र्ुब्नाि्ना नकए नबि्ना) इस प्रक्नाि होंगी नक सांख्य्ना क्ना प्रत्येक 
अांक नवषम हो औि सांख्य्ना 5 से नवभ्नाज्य हो?

(a) 8
(b) 12 
(c) 16
(d) 24

Q 19. िीचे नर्ए गए प्रश् औि र्ो कर्थिों पि नवच्नाि कीनिए : 

1. प्रश्न: ्त्या x पूणाांक है?
2. कथनो - 1: x/3 पूणाांक नोहीं है।
3. कथनो-2 : 3x पूणाांक है।

उपयु्तक्त प्रश् औि कर्थिों के ब्नािे में निम्ननिनित में से 
कौि-स्ना एक सही है?

(a) अकेला कथनो -1 ही प्रश्न का उत्तर दनेो ेके नलए प्या्भप्त है
(b) अकेला कथनो -2 ही प्रश्न का उत्तर दनेेो के नलए प्या्भप्त है
(c) कथनो-1 और कथनो-2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त हैं
(d) कथनो -1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त नोहीं हैं
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Q 12. Why is the methodology adopted in India 
to count the 'poor' debatable? 
(a) There is some confusion regarding what 

should constitute the 'poverty line'. 
(b) There are wide diversities in the 

condition of the rural and urban poor.
(c) There is no uniform global standard for 

measuring income poverty.
(d) It is based on the proposition of poverty 

as meagre buying capacity. income
Q 13. Why is income poverty only one measure 

of counting the 'poor'?
(a) It talks of only one kind of deprivation 

ignoring all others.
(b) Other deprivations in a human life have 

nothing to do with lack of purchasing power.
(c) Income poverty is not a permanent 

condition, it changes from time to time.
(d) Income poverty restricts human choices 

only at a point of time.
Q 14. What does the author mean by 'poverty of a life'?

(a) All deprivations in a human life which 
stem not only from lack of income but 
lack of real opportunities

(b) Impoverished state of poor people in 
rural and urban areas

(c) Missed opportunities in diverse personal 
circumstances

(d) Material as well as non-material 
deprivations in human life a human 
which restrict permanently choices

Q 15. X and Y run a 3 km race along a circular 
course of length 300 m. Their speeds are 
in the ratio 3 : 2. If they start together in 
the same direction, how many times 
would the first one pass the other (the 
start-off is not counted as passing)?
(a) 2
(b) 3
(c) 4
(d) 5

Q 16. If the order of the letters in the English 
alphabet is reversed and each letter 
represents the letter whose position it 
occupies, then which one of the following 
represents LUCKNOW"?
(a) OGXPMLD
(b) OGXQMLE
(c) OFXPMLE
(d) OFXPMLD

Q 17. In a tournament of Chess having 150 
entrants, a player is eliminated whenever 
he loses a match. It is given that no match 
results in a tie/draw. How many matches 
are played in the entire tournament?
(a) 151 
(b) 150 
(c) 149 
(d) 148 

Q 18. How many 3-digit natural numbers 
(without repetition of digits) are there 
such that each digit is odd and the 
number is divisible by 5?
(a) 8
(b) 12
(c) 16
(d) 24

Q 19. Consider the Question and two 
Statements given below:
1. Question: Is x an integer?
2. Statement-1: x/3 is not an integer.
3. Statement-2: 3x is an integer.
Which one of the following is correct in 
respect of the Question and the Statements?
(a) Statement-1 alone is sufficient to answer 

the Question
(b) Statement-2 alone is sufficient to 

answer the Question
(c) Both Statement-1 and Statement-2 are 

sufficient to Question answer the Question 
(d) Both Statement-1 and Statement-2 are 

not sufficient to answer the Question
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Q 20. एक वस्तु की कीमत में 25% वृनधि की गई। तत्पश्च्नात् 
कीमत को 20% घट्ना नर्य्ना गय्ना औि नर्ि 10% बि्ना 
नर्य्ना गय्ना। कीमत में परिण्नामी वृनधि क्य्ना है?

(a) 5%
(b) 10%
(c) 12.5%
(d) 15%

निम्ननिनित 3 (तीि) प्रश््नाांशोों के निए निर्देशो : 

निम्ननिनित परिच््छछेर् को पनिए औि उसके िीचे आिे 
व्नािे प्रश््नाांशोों के उत्ति र्ीनिए। इि प्रश््नाांशोों के निए 
आपके उत्ति केवि इस परिच््छछेर् पि ही आध्नारित होिे 
च्नानहए।

परिच््छछेर् नवश्व में कु्छ िगहों पि च्नावि औि गेहूँ िैसे 
प्रमुि ि्नाद््नान्नों की उत्प्नार्कत्ना क्स्र्थित्ना की सीम्ना तक 
पहुँच गई है। उपि को ि तो िई नकस्में औि ि ही अिोिे 
ककृनष िस्नायि बि्ना िहे हैं। ि ही अब ऐसी क्नार्ी िमीिें 
बची हैं निि पि िेती ि हुई हो औि उि पि ककृनष किि्ना 
उपयुक्त हो । यनर् वैक्श्वक त्नापम्नाि क्ना बिि्ना ि्नािी िह्ना, 
तो कु्छ स्र्थ्नाि ककृनष के निए अिुपयुक्त हो ि्नाएँगे। 
प्रौद्ोनगकी क्ना उपयोग इि समस्य्नाओं को र्ूि कििे में 
सह्नायक हो सकत्ना है। ककृनष प्रौद्ोनगकी बहुत तेिी से 
बर्ि िही है। बहुत-स्ना यह परिवत्ति पक्श्चमी िगत्/
अमिीक्ना के सांपन्न नकस्नािों द््नाि्ना ि्नाय्ना ि्ना िह्ना है। 
पक्श्चम में नवकनसत तकिीकें कु्छ स्र्थ्नािों पि 
उष्णकनटबांधीय र्सिों को अनधक उत्प्नार्क बि्नािे के 
निए अपि्नाई ि्ना िही हैं। प्रौद्ोनगकी क्ना कोई उपयोग 
िहीं, अगि वह ि्नागू ि की ि्नाए। नवक्नासशोीि नवश्व में 
यह वत्तम्नाि ककृनष तकिीकों पि उति्ना ही ि्नागू है निति्ना 
यह आिुवांनशोक रूप्नाांतिण में आई िवीितम तिक्की पि 
ि्नागू है। आि की श्ेष््ठतम ककृनष प्रण्नानियों को अफ्ीक्ना 
औि एनशोय्ना के कम िोत व्नािे औि निव्ना्तह के निए ककृनष 
कििे व्नािे ककृषकों तक, ऐसे सिि म्नामिों में भी नक 
नकति्ना औि कब उव्तिक प्रयुक्त किि्ना च्नानहए, पहुँच्नाय्ना 
ि्नाए, तो इससे म्नािवत्ना के निए अत्यनधक ि्नाद््नान्न 
उपिब्धत्ना हो सकेगी। इसी तिह बेहति सड़कें औि 
भांड्नािण सुनवध्नाएँ िैसी चीिें भी बिेंगी, निससे अनधशोेष 
ि्नाद््नान्न की ब्नाि्नािों तक ढुि्नाई की ि्ना सके औि उिकी 
बब्ना्तर्ी को कम नकय्ना ि्ना सके।

Q 21. उपयु्तक्त परिच््छछेर् पि आध्नारित, निम्ननिनित 
पूव्तध्नािण्नाएँ बि्नाई गई हैं:

1. ककृनि प्रौद्रोनगकी का नवकास, नवकनसत देशों तक सीन्मत 
है। 

2. ककृनि प्रौद्रोनगकी, नवकासशील देशों ्में नोहीं अपनोाई गई 
है।

उपयु्तक्त पूव्तध्नािण्नाओं में से कौि-स्ना/से वैध है/हैं?

(a) केवल 1  

(b) केवल 2

(c) 1 और 2 दरोनोों

(d) नो तरो 1 और नो ही 2

Q 22. उपयु्तक्त परिच््छछेर् पि आध्नारित, निम्ननिनित 
पूव्तध्नािण्नाएँ बि्नाई गई हैं :

1. गरीब देशों करो अपनोी वत्भ्मानो ककृनि तकनोीकों ्में 
पररवत्भनो लानोे की आवश््यकता है।

2. नवकनसत देशों के पास बेहतर आधाररक संरर्नोा है और 
वे खाद्ान्न की क्म बबा्भदी करते हैं।

उपयु्तक्त पूव्तध्नािण्नाओं में से कौि-स्ना / से वैध है/हैं

(a) केवल 1
(b) केवल 2
(c) 1 और 2 दरोनोों
(d) नो तरो 1 और नो ही 2

Q 23. उपयु्तक्त परिच््छछेर् पि आध्नारित, निम्ननिनित 
पूव्तध्नािण्नाएँ बि्नाई गई हैं :

1. भावी पीऩि्यों के नलए प्या्भप्त खाद्ान्न उपजानोा 
र्ुनोौतीपूण्भ का्य्भ हरोगा।

2. कॉपपोरेट ककृनि, गरीब देशों ्में खाद्ान्न सुरक्षा के नलए 
लाभप्रद नवकल्प है।

उपयु्तक्त पूव्तध्नािण्नाओं में से कौि-स्ना / से वैध है/हैं?

(a) केवल 1
(b) केवल 2
(c) 1 और 2 दरोनोों
(d) नो तरो 1 और नो ही 2
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Q 20. The increase in the price of a certain 
item was 25%. Then the price was 
decreased by 20% and then again 
increased by 10%. What is the resultant 
increase in the price?

(a) 5%   
(b) 10%
(c) 12.5%  
(d) 15%

Directions for the following 3 (three) 
items: 

Read the following passage and answer 
the items that follow the passage. Your 
answers to these items should be based 
on the passage only.

Passage In some places in the world, the 
productivity of staples such as rice and wheat 
has reached a plateau. Neither new strains 
nor fancy agrochemicals are raising the 
yields. Nor is there much unfarmed land left 
that is suitable to be brought under the 
plough. If global temperature continues to 
rise, some places will become unsuitable for 
farming. Application of technology can help 
overcome these problems. Agricultural 
technology is changing fast. Much of this 
change is brought about by affluent farmers 
in the West/Americas. Techniques developed 
in the West are being adapted in some places 
to make tropical crops more productive. 
Technology is of little use if it is not adapted. 
In the developing world, that applies as much 
to existing farming techniques as it does to 
the latest advances in genetic modification. 
Extending to the smallholders and 
subsistence farmers of Africa and Asia the 
best of today's agricultural practices, in such 
simple matters as how much fertilizers to 

apply and when, would lead to a greatly 
increased availability of food for humanity. 
So would things like better roads and storage 
facilities, to allow for the carriage of 
surpluses to markets and reduce wastage.

Q 21. Based on the above passage, the 
following assumptions have been made : 
1. Development of agricultural technology 

is confined to developed countries.
2. Agricultural technology is not adapted 

in developing countries.
Which of the above assumptions is/are valid?
(a) 1 only
(b) 2 only
(c) Both 1 and 2 
(d)  Neither 1 nor 2

Q 22. Based on the above passage, the 
following assumptions have been made: 
1. Poor countries need to bring about change 

in their existing farming techniques.
2. Developed countries have better 

infrastructure and they waste less food.
Which of the above assumptions is/are valid?
(a) 1 only   
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q 23. Based on the above passage, the 
following assumptions have been made : 

1. Growing enough food for future 
generations will be a challenge.

2. Corporate farming is a viable option for 
food security in poor countries.

Which of the above assumptions is/are valid?

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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Q 24. वण्त A, B, C, D औि E इस तिह व्यवक्स्र्थत नकए गए हैं 
नक A औि E के बीच यर्थ्नात्थ्य र्ो वण्त हैं। इस तिह 
नकतिी व्यवस्र्थ्नाएँ सांभव हैं?

(a) 12
(b) 18
(c) 24
(d) 36

Q 25. िीचे नर्ए गए प्रश् औि र्ो कर्थिों पि नवच्नाि कीनिए:

1. प्रश्न: ्त्या Z, X का भाई है ?
2. कथनो - 1: Y का भाई X है और Z का भाई Y है। 
3. कथनो-2: X, Y और Z सहरोदर भाई / बहनो हैं।

उपयु्तक्त प्रश् औि कर्थिों के ब्नािे में निम्ननिनित में से 
कौि-स्ना एक सही है ?

(a) अकेला कथनो -1 ही प्रश्न का उत्तर दनेेो के नलए प्या्भप्त है

(b) अकेला कथनो -2 ही प्रश्न का उत्तर दनेेो के नलए प्या्भप्त है

(c) कथनो -1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 
नलए प्या्भप्त हैं 

(d) कथनो - 1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 
नलए प्या्भप्त नोहीं हैं

Q 26. 1.01 km ि्बबी सड़क के एक नकि्नािे एक-र्ूसिे से 
सम्नाि र्ूिी पि 101 पौधे िोपे गए हैं। 5 क्रम्नागत पौधों के 
बीच कुि नकतिी र्ूिी है ?

(a) 40m
(b) 40.4m
(c) 50m
(d) 50.5m

Q 27. A, B औि C तीि स्र्थ्नाि इस प्रक्नाि हैं नक A से B के निए 
तीि नभन्न ि्नास्ते हैं, B से C के निए च्नाि नभन्न ि्नास्ते हैं 
औि A से C के निए तीि नभन्न ि्नास्ते हैं। इि ि्नास्तों क्ना 
प्रयोग कि कोई व्यक्क्त नकतिे नभन्न म्नागथों से A से C तक 
ि्ना सकत्ना है?

(a) 10
(b) 13
(c) 15
(d) 36

Q 28. A के प्नास कु्छ नसक्के हैं। वह उिमें से आधे नसक्कों में 2 
औि नसक्के नमि्नाकि B को र्ेत्ना है। B उिमें से आधे 
नसक्कों में 2 औि नसक्के नमि्नाकि C को र्ेत्ना है। C 
उिमेंसे आधे नसक्कों में 2 औि नसक्के नमि्नाकि D को 
र्ेत्ना है। D के प्नास अब नितिे नसक्के हैं, वह र्ो अांकों की 
िघुतम सांख्य्ना है। शोुरू में A के प्नास नकतिे नसक्के हैं ?

(a) 76
(b) 68
(c) 60
(d) 52

Q 29. श्ेणी AABABCABCDABCDE... में 100वें स्र्थ्नाि 
पि कौि स्ना वण्त आएग्ना?

(a) G
(b) H
(c) I
(d) J

Q 30. तीि व्यक्क्त A, B औि C नकसी पांक्क्त (क्य)ू में िड़छे हैं 
नकन्त ुआवश्यक िहीं नक इसी क्रम में हों। A औि B के 
बीच 4 व्यक्क्त हैं औि B तर्थ्ना C के बीच 7 व्यक्क्त हैं। यनर् 
C के आग े11 व्यक्क्त हैं औि A के पी्छछे 13 व्यक्क्त हैं, तो 
पांक्क्त में िड़छे व्यक्क्तयों की न्यिूतम सांख्य्ना क्य्ना ह?ै 

(a) 22 
(b) 28
(c) 32
(d) 38

निम्ननिनित 4 (च्नाि) प्रश््नाांशोों के निए निर्देशो : 

निम्ननिनित र्ो परिच््छछेर्ों को पनिए औि उिके िीच ेआिे 
व्नाि ेप्रश््नाांशोों के उत्ति र्ीनिए। इि प्रश््नाांशोों के निए आपके 
उत्ति केवि इि परिच््छछेर्ों पि ही आध्नारित होि ेच्नानहए।
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Q 24. The letters A, B, C, D and E are arranged 
in such a way that there are exactly two 
letters between A and E. How many such 
arrangements are possible?

(a) 12
(b) 18
(c) 24
(d) 36

Q 25. Consider the Question and two 
Statements given below:

1. Question: Is Z brother of X?
2. Statement-1: X is a brother of Y and Y is 

a brother of Z.
3. Statement-2: X, Y and Z are siblings. 

Which one of the following is correct in 
respect of the Question and the Statements?

(a) Statement-1 alone is sufficient to answer 
the Question

(b) Statement-2 alone is sufficient to 
answer the Question

(c) Both Statement-1 and Statement-2 are 
sufficient to answer the Question

(d) Both Statement-1 and Statement-2 are 
not sufficient to answer the Question

Q 26. On one side of a 1.01 km long road, 101 
plants are planted at equal distance from 
each other. What is the total distance 
between 5 consecutive plants?

(a) 40 m
(b) 40.4 m
(c) 50 m
(d) 50.5 m

Q 27. A, B and C are three places such that 
there are three different roads from A to 
B, four different roads from B to C and 
three different roads from A to C. In how 
many different ways can one travel from 

A to C using these roads?

(a) 10 
(b) 13
(c) 15
(d) 36

Q 28. A has some coins. He gives half of the coins 
and 2 more to B. B gives half of the coins and 
2 more to C. C gives half of the coins and 2 
more to D. The number of coins D has now, is 
the smallest two-digit number. How many 
coins does A have in the beginning?

(a) 10
(b) 68
(c) 60
(d) 52

Q 29. In the series AABABCABCDABCDE..., 
which letter appears at the 100th place? 

(a) G
(b) H
(c) I
(d) J

Q 30. Three persons A, B and C are standing in 
a queue not necessarily in the same 
order. There are 4 persons between A 
and B, and 7 persons between B and C. If 
there are 11 persons ahead of C and 13 
behind A, what could be the minimum 
number of persons in the queue?

(a) 22 
(b) 28
(c) 32 
(d) 38

Directions for the following 4 (four) 
items: Read the following two passages 
and answer the items that follow the 
passages. Your answers to these items 
should be based on the passages only.
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परिच््छछेर्-1 प्र्नाककृनतक विण (िैचुिि नसिेक्शोि) 
पृ्थ्वी पि भ्नावी पय्ना्तविणों क्ना पूव्ना्तिुम्नाि िहीं कि 
सकत्ना। इसनिए वत्तम्नाि िीव-समुच्चय पय्ना्तविणीय 
मह्नानवपनत्तयों के निए, िो िीवि की ि्नाह में िड़ी हैं, 
पूिी तिह कभी भी तैय्नाि िहीं हो सकते। इसक्ना 
परिण्नाम यह है नक वे प्रि्नानतय्ँना नविुप्त हो ि्नाएँगी 
िो पय्ना्तविणीय प्रनतकिूत्ना से प्नाि िहीं प्ना सकतीं । 
उत्तििीनवत्ना की इस नवर्ित्ना क्ना उत्तिर््नायी, 
आधुनिक शोब्र्ों में, उि िीिोम को कह्ना ि्ना सकत्ना 
है, िो भूवैज््नानिक नवक्ोभ य्ना िैनवक र्ुघ्तटि्नाओं 
(सांक्रमण, िोग आनर्) को झेि प्नािे में असमर्थ्त हैं। 
पृ्थ्वी पि िीवों के नवक्नास ( ईवोल्यूशोि) में 
प्रि्नानतयों क्ना नविुप्त होि्ना एक प्रमुि नवशोेषत्ना िही 
है। वत्तम्नाि में पृ्थ्वी पि एक किोड़ तक प्रि्नानतय्ँना हो 
सकती हैं, तर्थ्नानप 90% से अनधक प्रि्नानतय्नाँ, िो 
कभी पृ्थ्वी पि र्थीं, अब नविुप्त हो चुकी हैं। एक ब्नाि 
नर्ि, सृक्ष्ट शोून्यव्नार्ी नसधि्नाांत इस ब्नात क्ना 
सांतोषििक सम्नाध्नाि र्ेिे में असर्ि हो ि्नाते हैं नक 
क्यों एक नर्व्य सृक्ष्टकत्ना्त पहिे तो ि्नािों प्रि्नानतयों 
क्ना सृिि कित्ना है औि नर्ि उन्हें सम्नाप्त हो ि्नािे 
र्ेत्ना है। नविुप्त िीवि के ब्नािे में ड्नानव्तिव्नार्ी 
व्य्नाख्य्ना एक ब्नाि नर्ि सिि, सुच्नारु औि एकर्म 
युक्क्तयुक्त हो ि्नाती है— िीवों क्ना िीवि उि 
पय्ना्तविणीय य्ना िैनवक हमिों की नक्रय्ना के रूप में 
नविुप्त हो ि्नात्ना है, नििके स्नामिे उिक्ना वांशो्नािुक्रम 
उिको पय्ना्तप्त रूप से तैय्नाि िहीं समझत्ना है। इसनिए, 
तर्थ्नाकनर्थत ड्नानव्तिव्नार्ी नवक्नास नसधि्नाांत व्नास्तव में 
नसधि्नाांत है ही िहीं । नवक्नास होत्ना है—यही सत्य है। 
नवक्नास की नक्रय्नानवनध ( ड्नानव्ति िे प्र्नाककृनतक विण 
प्रस्तुत नकय्ना) क्ना पय्ना्तप्त समर्थ्ति वैज््नानिक आँकड़ों 
से हो ि्नात्ना है। व्नास्तव में, अभी तक ड्नानव्ति के र्ो 
केन्द्ीय नवच्नािों में से नकसी क्ना भी नकसी 
िन्तुवैज््नानिक, विस्पनतवैज््नानिक, भूवैज््नानिक, 
िीव्नाश्मीय, आिुवांनशोक य्ना भौनतक स्नाक्षयों िे िांडि 
िहीं नकय्ना है। यनर् धम्त क्ना नवच्नाि ि किें, तो ड्नानव्ति 
के नियम ्ठीक-्ठीक कोपिनिकस, गैनिनियो, 
न्यूटि औि आइांस्ट्नाइि द््नाि्ना प्रस्त्नानवत नियमों की 
तिह ही स्वीक्नाय्त हैं—नक ये प्र्नाककृनतक नियम-
समुच्चय हैं िो भूमांडि में प्र्नाककृनतक घटि्नाओं की 
व्य्नाख्य्ना किते हैं।

Q 31. परिच््छछेर् के अिुस्नाि, प्र्नाककृनतक विण पृ्थ्वी पि भ्नावी 
पय्ना्तविणों क्ना पूव्ना्तिुम्नाि िहीं कि सकत्ना है, क्योंनक –

1. जरो प्रजानत्याँ अपनोी राह ्में खड़े प्या्भवरणी्य पररवत्भनोों 
का सा्मनोा करनोे के नलए पूरी तरह तै्यार नोहीं हैं, वे 
नवलुप्त हरो जाएँगी

2. सभी वत्भ्मानो प्रजानत्याँ नवलुप्त हरो जाएँगी, ्त्योंनक उनोके 
जीनोरो्म जैनवक दुर््भटनोाओं करो नोहीं झेल पाएँगे –

3. प्या्भवरणी्य पररवत्भनोों करो झेल पानोे ्में जीनोरो्म की 
अक्ष्मता के पररणा्मस्वरूप नवलरोपनो हरो जाएगा –

4. प्रजानत्यों का नवलरोपनो एक आ्म लक्षण है 

िीचे नर्ए गए कूट क्ना प्रयोग कि सही उत्ति चुनिए ।

(a) 1, 2 और 3
(b) 2, 3 और 4
(c) 1, 3 और 4
(d) 1, 2 और 4

Q 32. यह परिच््छछेर् यह सुझ्नात्ना है नक नवक्नास क्ना ड्नानव्तिव्नार्ी 
नसधि्नाांत कोई नसधि्नाांत है ही िहीं, क्योंनक-

(a) ्यह सृक्ष्ट - शून््यवादी नसद्धांत करो संतुष्ट नोहीं करता 
(b) नवलरोपनो, प्या्भवरणी्य और जैनवक ह्मलों की नक्र्या है
(c) इसके खंडनो के नलए करोई साक्ष्य नोहीं हैं 
(d) जीवों के अक्स्तत्व का श्े्य सृक्ष्टकता्भ करो है
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Passage-1 Natural selection cannot 
anticipate future environments on the 
earth. Therefore, the set of existing 
organisms can never be fully prepared 
for environmental catastrophes that 
await life. An outcome of this is the 
extinction of those species which cannot 
overcome environmental adversity. This 
failure to survive, in modern terms, can 
be attributed to the genomes which are 
unable to withstand geological vagaries 
or biological mishaps (infections, 
diseases and so on). In biological 
evolution on the earth, extinction of 
species has been a major feature. The 
earth may presently have up to ten 
million species, yet more than 90% of 
species that have ever lived on the earth 
are now extinct. Once again, the 
creationist doctrines fail to satisfactorily 
address why a divine creator will firstly 
bother to create millions of species and 
then allow them to perish. The Darwinian 
explanation for extinct life is once again 
simple, elegant and at once convincing-
organisms go extinct as a function of 
environmental or biological assaults for 
which their inheritance deems them ill-
equipped. Therefore, the so-called 
Darwinian theory of evolution is not a 
theory at all. Evolution happens-this is a 
fact. The mechanism of evolution 
(Darwin proposed natural selection) is 
amply supported by scientific data. 
Indeed, to date no single zoological, 
botanical, geological, paleontological, 
genetic or physical evidence has refuted 
either of the central two main Darwinian 
ideas. If religion is not taken into 
consideration, Darwinian laws are 
acceptable just like the laws proposed by 

Copernicus, Galileo, Newton and 
Einstein-sets of natural laws that 
explain natural phenomena in the 
universe.

Q 31. According to the passage, natural 
selection cannot anticipate future 
environments on the earth as

1. species not fully prepared to face the 
environmental changes that await them 
will face extinction.

2. 2. all the existing species would get 
extinct as their genomes will not 
withstand biological mishaps

3. 3. inability of the genome to withstand 
environmental changes would result in 
extinction 

4. 4. extinction of species is a is a common 
feature

Select the correct answer using the code 
given below.

(a) 1, 2 and 3 
(b) 2, 3 and 4
(c) 1, 3 and 4
(d) 1, 2 and 4

Q 32. The passage suggests that Darwinian 
theory of evolution is not a theory at all 
because

(a) it does not satisfy the creationist 
doctrine

(b) extinction is a function of environment 
and biological assaults

(c) there are no evidences to refute it
(d) existence of organisms is attributed to a 

creator
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Q 33. इस परिच््छछेर् के सन्र्भ्त में, निम्ननिनित पूव्तध्नािण्नाएँ 
बि्नाई गई हैं :

1. केवल वे प्रजानत्याँ जीनवत रहेंगी और का्य्म रहेंगी 
नजनो्में प्या्भवरणी्य ्महानवपनत्त से पार पानोे की क्ष्मता 
हरोगी।

2. प्या्भवरण ्में उग् पररवत्भनोों के कारण पृथ्वी पर 90% से 
अनधक प्रजानत्याँ नवलुप्त हरो जानोे के खतरे ्में हैं।

3. डानव्भनो का नसद्धांत सभी प्राककृनतक र्टनोाओं की व््याख््या 
करता है।

उपयु्तक्त पूव्तध्नािण्नाओं में से कौि-स्ना/से वैध है/हैं?
(a) केवल 1
(b) केवल 1 और 2
(c) केवल 3
(d) 1, 2 और 3

परिच््छछेर् - 2 क्स्र्थि आनर्थ्तक सांवृनधि, उच्चति स्नाक्ित्ना 
औि बिते हुए कौशोि स्ति के स्नार्थ भ्नाितीय मध्यवगगीय 
परिव्नािों की सांख्य्ना अत्यनधक तेिी से बिी है। इस 
सांपन्नत्ना के सीधे परिण्नाम ये हुए हैं नक आह्नाि प्रनतरूपों 
औि ऊि्ना्त उपभोग स्तिों में बर्ि्नाव आए हैं। िोग र्ुग्ध 
उत्प्नार्, म्छिी औि म्नाांस िैसे उच्चति प्रोटीि आध्नारित 
आह्नाि िेिे िगे हैं, निि सभी के उत्प्नार्ि में अि्नाि-
आध्नारित आह्नाि के उत्प्नार्ि की अपेक््ना कहीं अनधक 
म्नारि्ना में िि की आवश्यकत्ना होती है। इिेक्ट्ॉनिक औि 
नवद्ुत् मशोीिों / औि्नािों औि मोटि व्नाहिों के बिते हुए 
उपयोग के निए अनधक्नानधक ऊि्ना्त की आवश्यकत्ना 
होती है, औि ऊि्ना्त के ििि के निए िि की आवश्यकत्ना 
होती है।

Q 34. निम्ननिनित कर्थिों में से कौि-स्ना एक इस परिच््छछेर् के 
मम्त को सववोत्तम रूप से प्रनतनबक््बबत कित्ना है?

(a) लरोगों करो ्मखु््यतः भारती्य पारम्पररक अनोाज-आधाररत 
आहारों करो ही लते ेरहनेो के नलए राजी नक्या जानोा र्ानहए।

(b) आनोे वाले विषों ्में भारत करो ककृनि उत्पादकता और 
अनधक ऊजा्भ-जनोनो क्ष्मता नवकनसत करनोे पर ध््यानो 
केक्न्रित करनोे की आवश््यकता है।

(c) आधुननोक प्रौद्रोनगकी्य नवकास लरोगों के सांस्ककृनतक और 
सा्मानजक व््यवहार ्में बदलाव लाता है।

(d) आनोे वाले विषों ्में भारत ्में जल प्रबंधनो प्रणानल्यों ्में 
नोाटकी्य बदलाव लानोे की आवश््यकता है।

Q 35. x सप्त्नाह, x नर्ि, x घण्टछे x नमिट औि x सेकण्ड में 
कुि नकतिे सेकण्ड हैं?

(a) 11580x
(b) 11581x
(c) 694860x
(d) 694861x

Q 36. P, Q, R, S, T औि U एक परिव्नाि के ्छः सर्स्य हैं। Q क्ना 
/ की पनत / पत्ी R है। T की म्नात्ना U ह ैऔि U की परुिी S 
ह ै। P की परुिी T ह ैऔि R क्ना परुि P ह।ै इस परिव्नाि में र्ो 
र्ांपनत हैं। निम्ननिनित में स ेकौि-स्ना एक सही ह ै?

(a) T का दादा / नोानोा Q है
(b) T की दादी / नोानोी Q है
(c) P की ्माता R है
(d) Q की प्रपौत्री / दौनहत्री T है

Q 37. नकसी ि्नाज्य के तीि शोहिों P, Q औि R के ब्नािे में िीचे 
नर्ए गए प्रश् औि र्ो कर्थिों पि नवच्नाि कीनिए :

1. प्रश्न: शहर P, शहर Q से नकतनोी दूर है ?
2. कथनो - 1: शहर Q, शहर R से 18 km दूर है।
3. कथनो-2 : शहर P, शहर R से 43 km दूर है। 

उपयु्तक्त प्रश् औि कर्थिों के ब्नािे में निम्ननिनित में से 
कौि-स्ना एक सही है ?

(a) अकेला कथनो -1 ही प्रश्न का उत्तर दनेो ेके नलए प्या्भप्त है
(b) अकेला कथनो-2 ही प्रश्न का उत्तर दनेो ेके नलए प्या्भप्त है
(c) कथनो-1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त हैं
(d) कथनो -1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त नोहीं हैं।
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Q 33. With reference to the passage, the 
following assumptions have been made :
1. Only species that have the ability to 

overcome environmental catastrophes 
will survive and perpetuate. 

2. More than 90% of the species on the earth 
are in the danger of getting extinct due to 
drastic changes in the environment.

3. Darwin's theory explains all the natural 
phenomena.

Which of the above assumptions is/are valid?
(a) 1 only
(b) 1 and 2 only
(c) 3 only 
(d) 1, 2 and 3  
Passage-2 With steady economic growth, 
higher literacy and increasing skill 
levels, the number of Indian middle-
class families has gone up exponentially. 
Direct results of the affluence have been 
changes in dietary patterns and energy 
consumption levels. People have moved 
to a higher protein-based diet like milk 
products, fish and meat, all of which 
need significantly more water to produce 
than cereal-based diets. Increasing use 
of electronic and electric machines/
gadgets and motor vehicles needs more 
and more energy and generation of 
energy needs water.

Q 34. Which one of the following statements 
best reflects the crux of the passage?
(a) People should be persuaded to continue 

with the mainly Indian traditional 
cereal-based diets.

(b) India needs to focus on developing 
agricultural productivity and capacity 
for more energy generation in the 
coming years.

(c) Modern technological developments 
result in the change of cultural and 

social behaviour of the people. 
(d) Water management practices in India 

need to change dramatically in the 
coming years.

Q 35. How many seconds in total are there in x 
weeks, x days, x hours, x minutes and x 
seconds?

(a) 11580x
(b) 11581x
(c) 694860x
(d) 694861x

Q 36. P, Q, R, S, T and U are six members of a 
family. R is the spouse of Q. U is the 
mother of T and S is the daughter of U. 
P's daughter is T and R's son is P. There 
are two couples in the family. Which one 
of the following is correct?

(a) Q is the grandfather of T
(b) Q is the grandmother of T
(c) R is the mother of P
(d) T is the granddaughter of Q

Q 37. Consider the Question and two 
Statements given below in respect of 
three cities P, Q and R in a State:

1. Question: How far is city P from city Q?
2. Statement-1: City Q is 18 km from city R.
3. Statement-2: City P is 43 city R km from

Which one of the following is correct in 
respect of the Question and the Statements?

(a) Statement-1 alone is sufficient to answer 
the Question 

(b) Statement-2 alone is sufficient to 
answer the Question

(c) Both Statement-1 and Statement-2 are 
Question sufficient to answer the question. 

(d) Both Statement-1 and Statement-2 are 
not sufficient to answer the Question 
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Q 38. र्ो कर्थि औि उिके ब्नार् च्नाि निष्कष्त िीच े नर्ए गए हैं। 
कर्थि यद्नप स्नाम्नान्य ज््नात त्थ्यों स ेअसांगत प्रतीत हों, तो 
भी आपको उन्हें सत्य म्नािि्ना ह।ै सभी निष्कषथों को पनिए 
औि तब निश्चय कीनिए नक नर्ए गए निष्कषथों में स ेकौि 
- स्ना / स ेनिष्कष्त, स्नाम्नान्य ज््नात त्थ्यों की उपके््ना कित ेहुए 
इि कर्थिों स ेतक्फसांगत रूप स ेअिुगनमत होत्ना ह/ैहोत ेहैं :

1. कथनो -1: सभी कल्में, नकताबें हैं।
2. कथनो-2: करोई कुससी, कल्म नोहीं है।
3. ननोष्कि्भ -I: सभी कुनस्भ्याँ, नकताबें हैं।
4. ननोष्कि्भ -II: कुछ कुनस्भ्याँ, कल्में हैं।
5. ननोष्कि्भ -III: सभी नकताबें, कुनस्भ्याँ हैं।
6. ननोष्कि्भ - IV: करोई भी कुससी, नकताब नोहीं है। 

निम्ननिनित में से कौि-स्ना एक सही है ?

(a) केवल ननोष्कि्भ -I
(b) केवल ननोष्कि्भ -II
(c) ननोष्कि्भ -III और ननोष्कि्भ -IV दरोनोों 
(d) इनो ननोष्किषों ्में से करोई भी अनोुगन्मत नोहीं हरोता

Q 39. तीि कर्थि औि उिके ब्नार् तीि निष्कष्त िीचे नर्ए गए हैं। 
कर्थि यद्नप स्नाम्नान्य ज््नात त्थ्यों से असांगत प्रतीत हों, 
तो भी आपको उन्हें सत्य म्नािि्ना है। सभी निष्कषथों को 
पनिए औि तब निश्चय कीनिए नक नर्ए गए निष्कषथों में 
से कौि-स्ना / से निष्कष्त, स्नाम्नान्य ज््नात त्थ्यों की उपेक््ना 
किते हुए इि कर्थिों से तक्फसांगत रूप से अिुगनमत होत्ना 
है/होते हैं :

1. कथनो-1 : कुछ डॉ्तटर, नशक्षक हैं।
2. कथनो-2 : सभी नशक्षक, इंजीननो्यर हैं।
3. कथनो - 3 : सभी इंजीननो्यर, वैज्ञाननोक हैं।
4. ननोष्कि्भ -I : कुछ वैज्ञाननोक, डॉ्तटर हैं।
5. ननोष्कि्भ -II: सभी इंजीननो्यर, डॉ्तटर हैं।
6. ननोष्कि्भ -III: कुछ इंजीननो्यर, डॉ्तटर हैं।

निम्ननिनित में से कौि-स्ना एक सही है ?

(a) (a) केवल ननोष्कि्भ - I
(b) (b) केवल ननोष्कि्भ - II
(c) (c) ननोष्कि्भ -I और ननोष्कि्भ -III दरोनोों
(d) (d) ननोष्कि्भ I और ननोष्कि्भ - II दरोनोों

Q 40. आ्ठ नवद््नार्थगी A, B, C, D, E, F, G औि H नकसी 
वतृ्त्नाक्नाि मेि के परितः मिे के केन्द् की ओि मिु नकए हएु 
एक-र्सूि ेस ेएक सम्नाि र्िूी पि ब्ैठछे हैं, नकन्त ुआवश्यक 
िहीं है नक वे इसी क्रम में हों। B औि D ि तो C के सनन्नकट 
हैं, ि ही C के ्ठीक स्नामिे ब्ैठछे हैं। E औि D के बीच में A 
ब्ैठ्ना ह,ै औि B औि H के बीच में ब्ैठ्ना ह।ै निम्ननिनित में 
स ेकौि-स्ना एक निक्श्चत रूप स ेसही है ?

(a) A और G के बीर् ्में B बैठा है
(b) G के ठीक सा्मनोे C बैठा है
(c) F के ठीक सा्मनोे E बैठा है। 
(d) उप्यु्भ्तत ्में से करोई नोहीं

निम्ननिनित 4 (च्नाि ) प्रश््नाांशोों के निए निर्देशो : 

निम्ननिनित र्ो परिच््छछेर्ों को पनिए औि उिके िीच ेआिे 
व्नाि ेप्रश््नाांशोों के उत्ति र्ीनिए। इि प्रश््नाांशोों के निए आपके 
उत्ति केवि इि परिच््छछेर्ों पि ही आध्नारित होि ेच्नानहए।

परिच््छछेर्-1 नप्छिी र्ो य्ना तीि पीनियों स ेव्यक्क्तयों की 
सतत बिती हईु सांख्य्ना मिषु्यों की तिह िहीं, विन् केवि 
क्नामग्नािों की तिह िीवि िीती िही ह।ै अत्यनधक म्नारि्ना में 
श्म किि्ना आि सम्नाि के हि के्रि में एक नियम बि गय्ना 
ह,ै निसक्ना परिण्नाम यह हआु हैं नक व्यक्क्त में आध्य्नाक्त्मक 
तत्तव की सांपन्नत्ना िहीं हो प्नाती है। वह अपिे र्थोड़छे से 
अवक्नाशो समय को नकसी ग्बभीि गनतनवनध में िग्नाि ेमें 
अत्यनधक कन्ठि्नाई महससू कित्ना ह।ै वह मिि किि्ना िहीं 
च्नाहत्ना; य्ना यनर् वह च्नाह ेतो कि भी िहीं प्नात्ना। वह ति्नाशो 
कित्ना ह,ै पि आत्मोन्ननत की िहीं बक्ल्क मिोिांिि की, िो 
उस ेइस ि्नायक बि्नात्ना ह ैनक वह म्नािनसक रूप स ेि्नािी 
हो औि अपिी स्नाम्नान्य गनतनवनधयों को भूि ि्नाए। 
इसनिए हम्नािे यगु की तर्थ्नाकनर्थत सांस्ककृनत, ि्नाट्यकि्ना 
की अपके््ना चिनचरि पि, ग्बभीि स्नानहत्य की अपके््ना 
सम्नाच्नाि-परिों, पनरिक्नाओं औि अपि्नाध - कर्थ्नाओं पि, 
अनधक आध्नारित ह।ै
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Q 38. Two Statements followed by four Conclusions 
are given below. You have to take the 
Statements to be true even if they seem to be 
at variance from the commonly known facts. 
Read all the Conclusions and then decide 
which of the given Conclusions logically 
follows/ follow from the Statements, 
disregarding the commonly known facts:

1. Statement-1 All pens are books.
2. Statement-2: No chair is a pen.
3. Conclusion-I: All chairs are books.
4. Conclusion-II: Some chairs are pens.
5. Conclusion-III: All books are chairs.
6. Conclusion-IV: No chair is a book.

Which one of the following is correct?

(a) Only Conclusion-I
(b) Only Conclusion-II
(c) Both Conclusion-III and Conclusion-IV 
(d) (d) None of the Conclusions follows

Q 39. Three Statements followed by three 
Conclusions are given below. You have to 
take the Statements to be true even if 
they seem to be at variance from the 
commonly known facts. Read all the 
Conclusions and then decide which of the 
given Conclusions logically follows/
follow from the Statements, disregarding 
the commonly known facts:

1. Statement-1: Some doctors are teachers.
2. Statement-2: All teachers are engineers. 
3. Statement-3: All engineers are 

scientists.
4. Conclusion-I: Some scientists are doctors.
5. Conclusion-II: All engineers are doctors.
6. Conclusion-III: Some engineers are 

doctors.

Which one of the following is correct?

(a) Only Conclusion-I
(b) Only Conclusion-II
(c) Both Conclusion-I and Conclusion-III
(d) Both Conclusion-I and Conclusion-II

Q 40. Eight students A, B, C, D, E, F, G and H sit 
around a circular table, equidistant from 
each other, facing the centre of the table, 
not necessarily in the same order. B and 
D sit neither adjacent to C nor opposite to 
C. A sits in between E and D, and F sits in 
between B and H. Which one of the 
following is definitely correct?

(a) B sits in between A and G
(b) C sits opposite to G
(c) E sits opposite to F
(d) None of the above.

Directions for the following 4 (four) 
items: Read the following two passages 
and answer the items that follow the 
passages. Your answers to these items 
should be based on the passages only.

Passage-1 For two or three generations past, 
ever- increasing numbers of individuals 
have been living as workers merely, not as 
human beings. An excessive amount of 
labour is rule today in every circle of society, 
with the result that man's spiritual element 
cannot thrive. He finds it very difficult to 
spend his little leisure in serious activities. He 
does not want to think; or he cannot even if he 
wants to. He seeks not self-improvement, but 
entertainment which would enable him to be 
mentally idle and to forget his usual activities. 
Therefore, the so-called culture of our age is 
dependent more on cinema than on theatre, 
more on newspapers, magazines and crime 
stories than on serious literature. 
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Q 41. यह परिच््छछेर् इस नवच्नाि पि आध्नारित है नक-

(a) ्मनोुष््य करो कनठनो श््म नोहीं करनोा र्ानहए
(b) ह्मारे ्युग की सबसे बड़ी बुराई अत््यनधक का्य्भ-तनोाव है
(c) ्मनोुष््य अच्छी तरह ्मनोनो नोहीं कर सकता
(d) ्मनोुष््य अपनोे आध््याक्त््मक कल््याण का ध््यानो नोहीं रख 

सकता

Q 42. मिुष्य आत्मोन्ननत की ति्नाशो िहीं कित्ना, क्योंनक-

(a) वह बौनद्धक रूप से सक्ष्म नोहीं है।

(b) उसके पास इसके नलए स्म्य नोहीं है

(c) उसे भौनतकवाद नोे नवभ्रन्मत कर नद्या है

(d) उसे ्मनोरोरंजनो नप्र्य है और वह ्मानोनसक रूप से खाली है

परिच््छछेर्-2 िि्नाांनककीय ि्नाभ्नाांशो क्ना अवसि, िो भ्नाित 
में शोुरू हो चुक्ना है। औि निसके औि कु्छ र्शोकों तक 
चििे की सांभ्नावि्ना है, एक बहुत बड़्ना सांभ्नावि्ना समय 
है। िि्नाांनककीय ि्नाभ्नाांशो बुनिय्नार्ी तौि पि क्नाय्तक्नािी 
आयु ििसांख्य्ना में स्र्ीनत है, निसक्ना नविोमतः अर्थ्त है 
नक अनत युव्ना औि अनत वृधि आयु क्ना स्नापेक् अिुप्नात, 
कु्छ समय के निए, नगि्नावट पि िहेग्ना। आयििैंड औि 
चीि के अिुभव से हम ि्नािते हैं नक यह ऊि्ना्त क्ना स्ोत 
औि आनर्थ्तक सांवृनधि क्ना इांिि हो सकत्ना है। िि्नाांनककीय 
ि्नाभ्नाांशो की प्रवृनत्त नकसी र्ेशो की बचत र्ि को बि्नािे की 
होती है, क्योंनक नकसी भी र्ेशो में क्नाय्तक्नािी आयु 
ििसांख्य्ना ही मुख्य बचतकत्ना्त होती है। औि चूँनक बचत 
र्ि सांवृनधि क्ना महत्तवपूण्त च्नािक होती है, इससे हम्नािी 
सांवृनधि र्ि को बि्नािे में मर्र् नमििी च्नानहए। तर्थ्नानप, 
िि्नाांनककीय ि्नाभ्नाांशो के ि्नाभ क्नाय्तक्नािी आयु ििसांख्य्ना 
की गुणत्ना पि निभ्ति होते हैं। औि इसक्ना निनहत्नार्थ्त है 
नशोक््ना, कौशोि अि्ति औि म्नािव पूँिी की महत्त्ना क्ना 
स्मिण नर्ि्नाि्ना ।

Q 43. िब िि्नाांनककीय ि्नाभ्नाांशो शोुरू हो ि्नात्ना है, तब नकसी 
र्ेशो में निम्ननिनित में से क्य्ना अवश्य घनटत होग्ना /होंगे 
?

1. ननोरक्षर लरोगों की संख््या र्टेगी।
2. अनत वृद्ध और अनत ्युवा आ्यु का अनोुपात कुछ स्म्य 

के नलए र्टेगा ।
3. जनोसंख््या वृनद्ध दर शीघ्र क्स्थर हरो जाएगी।

िीचे नर्ए गए कूट क्ना प्रयोग कि सही उत्ति चुनिए ।

(a) केवल 1 और 2
(b) केवल 2
(c) केवल 1 और 3
(d) (1, 2 और 3

Q 44. इस परिच््छछेर् क्ना सन्र्भ्त िते ेहएु निम्ननिनित में स ेकौि- स्ना 
/ स ेअिमु्नाि निक्नाि्ना ि्ना सकत्ना ह/ैनिक्नाि ेि्ना सकते हैं?

1. जनोांनककी्य लाभांश नकसी देश के नलए तेजी से इसकी 
आनथ्भक संवृनद्ध दर ब़िानोे के नलए एक अननोवा्य्भ दशा है। 

2. उच्च नशक्षा की उन्ननत नकसी देश के नलए तेजी से इसकी 
आनथ्भक संवृनद्ध ब़िानोे के नलए एक अननोवा्य्भ दशा है।

िीचे नर्ए गए कूट क्ना प्रयोग कि सही उत्ति चुनिए ।

(a) केवल 1
(b) केवल 2
(c) 1 और 2 दरोनोों
(d) नो तरो 1 और नो ही 2

Q 45. प्नाँच नमरि P, Q, X, Y औि Z िे कु्छ िोटबुक ििीर्ीं। 
सांगत सूचि्नाएँ िीचे र्ी गई हैं : 

1. X नोे नजतनोी नोरोटबुक खरीदीं उससे 8 अनधक नोरोटबुक Z 
नोे खरीदीं।

2. P और Q नोे न्मलकर 21 नोरोटबुक खरीदीं।
3. P नोे नजतनोी नोरोटबुक खरीदीं उससे 5 क्म नोरोटबुक Q नोे 

खरीदीं।
4. X और Y नोे न्मलकर 28 नोरोटबुक खरीदीं।
5. X नोे नजतनोी नोरोटबुक खरीदीं उससे 5 अनधक नोरोटबुक P 

नोे खरीदीं।
यनर् प्रत्येक िोटबुक की कीमत ₹40 है, तो सभी िोटबुक 
की कुि ि्नागत नकतिी है ?
(a) ₹2,600
(b) ₹2,400
(c) ₹2,360
(d) ₹2,320
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Q 41. The passage is based on the idea that

(a) man should not work hard
(b) the great evil of our age is overstrain
(c) man cannot think well
(d) man cannot care for his spiritual welfare

Q 42. Man does not seek self-improvement 
because he
(a) is not intellectually capable
(b) has no time to do so
(c) is distracted by materialism 
(d) loves amusement and is mentally idle
Passage-2 The demographic dividend, which 
has begun in India and is expected to last 
another few decades, is a great window of 
opportunity. The demographic dividend is 
basically a swelling in the working age 
population, which conversely means that the 
relative ratio of very young and very old will, 
for a while, be on the decline. From the 
experience of Ireland and China, we know 
that this can be a source of energy and an 
engine of economic growth. The demographic 
dividend tends to raise a nation's savings rate 
since in any nation, it is the working age 
population that is the main saver. And since 
the savings rate is an important driver of 
growth, this should help elevate our growth 
rate. However, the benefits of demographic 
dividend depend on the quality of the working 
age population. And this implies bringing 
back the importance of education, acquisition 
of skills and human capital.

Q 43. Which of the following would invariably 
happen in a country, when the demographic 
dividend has begun to operate?
1. The number of illiterate people will 

decrease.
2. The ratio of very old and very young 

will decrease for a while.

3. Population growth rate will quickly 
stabilize.

Select the correct answer using the code 
given below.
(a) 1 and 2 only
(b) 2 only
(c) 1 and 3 only 
(d)  1, 2 and 3

Q 44. With reference to the passage, which of 
the following inferences can be drawn?

1. Demographic dividend is an essential 
condition for a country to rapidly 
increase its economic growth rate.

2. Promotion of higher education is an 
essential condition for a country for its 
rapid economic growth.

Select the correct answer using the code 
given below.

(a) 1 only 
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q 45. Five friends P, Q, X, Y and Z purchased 
some notebooks. The relevant information is 
given below:

1. Z purchased 8 notebooks more than X did.
2. P and Q together purchased 21 notebooks.
3. Q purchased 5 notebooks less than P did.
4. X and Y together purchased 28 

notebooks.
5. P purchased 5 notebooks more than X did.

If each notebook is priced 40, then what 
is the total cost of all the notebooks?

(a) Rs.2,600  
(b) Rs.2,400
(c) Rs.2,360 
(d) Rs.2,320
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Q 46.   एक आर्मी 14:30 बिे घि से चि्ना औि ग्नाँव की ओि 
चि्ना, औि िब ग्नाँव की घड़ी िे 15:15 बिे क्ना सांकेत 
नर्य्ना तो वह वह्नाँ पहुँच्ना। 25 नमिट तक रुकिे के ब्नार्, 
वह 16:00 बिे घि पहुांचिे के निए पहिे म्नाग्त से 1-25 
गुि्ना िांबे एक अिग म्नाग्त से र्ोगुिी गनत से व्नापस चि्ना 
गय्ना। घि की घड़ी की तुिि्ना में ग्नाांव की घड़ी है

(a) 10 न्मनोट धी्मी
(b) 5 न्मनोट धी्मी
(c) 10 न्मनोट तेज
(d) 5 न्मनोट तेज

Q 47. एक व्यक्क्त E क्ना गुि्ना औि F क्ना ्छह गुि्ना। X को 
न्यूितम नकतिी पेि ििीर्िी च्नानहए त्नानक प्रत्येक को 
नमििे व्नािी पेि की सांख्य्ना एक सम सांख्य्ना हो?

(a) 147
(b) 150
(c) 294
(d) 300

Q 48. ्छः व्यक्क्त A, B, C, D, E औि F नकसी वृत्त्नाक्नाि मेि 
के परितः (मेि के केन्द् की ओि मुि नकए), एक-र्ूसिे 
से एक सम्नाि र्ूिी पि बै्ठछे हैं।

नोीर्े नदए गए प्रश्न और दरो कथनोों पर नवर्ार कीनजए :
प्रश्न : A के ठीक बाईं ओर कौनो बैठा है?
कथनो - 1: C के ठीक सा्मनोे B बैठा है और E के ठीक सा्मनोे 
D बैठा है।
कथनो-2: B के ठीक बाईं ओर F बैठा है।

निम्ननिनित में से कौि-स्ना एक उपयु्तक्त प्रश् औि 
कर्थिों के ब्नािे में सही है ?

(a) अकेला कथनो -1 ही प्रश्न का उत्तर दनेेो के नलए प्या्भप्त है
(b) अकेला कथनो-2 ही प्रश्न का उत्तर दनेो ेके नलए प्या्भप्त है
(c) कथनो-1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त हैं
(d) कथनो -1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त नोहीं हैं

Q 49. िीचे नर्ए गए प्रश् औि र्ो कर्थिों पि नवच्नाि कीनिए: 

1. प्रश्न: ्मनोीिा की आ्यु ्त्या है ?
2. कथनो - 1: ्मनोीिा अपनोी ्माँ से 24 वि्भ छरोटी है।
3. कथनो - 2: 5 वि्भ बाद, ्मनोीिा और उसकी ्माँ की आ्यु 

3:5 के अनोुपात ्में हरोगी।

निम्ननिनित में से कौि-स्ना एक उपयु्तक्त प्रश् औि 
कर्थिों के ब्नािे में सही है?

(a) अकेला कथनो -1 ही प्रश्न का उत्तर दनेेो के नलए प्या्भप्त है 
(b) अकेला कथनो -2 ही प्रश्न का उत्तर दनेेो के नलए प्या्भप्त है
(c) कथनो -1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त हैं
(d) कथनो-1 और कथनो -2, दरोनोों, प्रश्न का उत्तर देनोे के 

नलए प्या्भप्त नोहीं हैं

Q 50. ्छः व्य्नाख्य्नाि A, B, C, D, E औि F, िो प्रत्येक एक 
घांटछे की अवनध के हैं, प्र्नातः 8:00 बिे औि अपि्नाह्न 2:00 
बिे के बीच नियत नकए गए हैं। िीचे नर्ए गए प्रश् औि 
र्ो कर्थिों पि नवच्नाि कीनिए : 

1. प्रश्न : तीसरी व््याख््यानो अवनध (पीरर्यड) ्में कौनो-
सा-व््याख््यानो है?

2. कथनो - 1: व््याख््यानो के ठीक पहले व््याख््यानो A और 
ठीक बाद ्में व््याख््यानो C हुआ।

3. कथनो-2 : व््याख््यानो B के बाद करोई व््याख््यानो नोहीं है।

निम्ननिनित में से कौि-स्ना एक उपयु्तक्त प्रश् औि 
कर्थिों के ब्नािे में सही है ?

(a) अकेला कथनो -1 ही प्रश्न का उत्तर देनोे के नलए प्या्भप्त 
है

(b) अकेला कथनो-2 ही प्रश्न का उत्तर देनोे के नलए प्या्भप्त 
है

(c) कथनो-1 और कथनो-2, दरोनोों, प्रश्न का उत्तर देनोे के 
नलए प्या्भप्त हैं

(d) कथनो-1 और कथनो-2, दरोनोों, प्रश्न का उत्तर देनोे के 
नलए प्या्भप्त नोहीं हैं
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Q 46. A man started from home at 14:30 hours and 
drove to village, arriving there when the 
village clock indicated 15:15 hours. After 
staying for 25 minutes, he drove back by a 
different route of length 1-25 times the first 
route at a rate twice as fast reaching home 
at 16:00 hours. As compared to the clock at 
home, the village clock is
(a) 10 minutes slow 
(b) 5 minutes slow
(c) 10 minutes fast 
(d) 5 minutes fast

Q 47. A person X wants to distribute some pens 
among six children A, B, C, D, E and F. 
Suppose A gets twice the number of pens 
received by B, three times that of C, four times 
that of D, five times that of E and six times 
that of F. What is the minimum number of 
pens X should buy so that the number of pens 
each one gets is an even number?
(a) 147  
(b) 150
(c) 294   
(d) 300

Q 48. Six persons A, B, C, D, E and F are sitting 
equidistant from each other around a circular 
table (facing the centre of the table).
Consider the Question Statements given 
below: and two
Question: Who is sitting on the immediate 
left of A? 
Statement-1: B is sitting opposite to C 
and D is sitting opposite to E.
Statement-2: F is sitting on the immediate left of B.
Which one of the following is correct in 
respect of the Question and the Statements?
(a) Statement-1 alone is sufficient to answer 

the Question
(b) Statement-2 alone is sufficient to 

answer the Question
(c) Both Statement-1 and Statement-2 are 

sufficient to Question answer the 
Question 

(d) Both Statement-1 and Statement-2 are 
not sufficient to answer the Question 

Q 49. Consider the Question and two 
Statements given below: 
Question:  What is the age of Manisha? 
Statement-1: Manisha is 24 years 
younger than her mother.
Statement-2:  5 years later, the ages of Manisha 
and her mother will be in the ratio 3:5.
Which one of the following is correct in 
respect of the Question and the Statements?
(a) Statement-1 alone is sufficient to answer 

the Question
(b) Statement-2 alone is sufficient to 

answer the Question
(c) Both Statement-1 and Statement-2 are 

sufficient to answer the Question
(d) Both Statement-1 and Statement-2 are 

not sufficient to answer the Question

Q 50. Six lectures A, B, C, D, E and F, each of 
one hour duration, are scheduled 
between 8:00 a.m. and 2:00 p.m. 
1. Consider the Question and two 

Statements given below: 
2. Statement-1: Lecture F is preceded by A 

and followed by C.
3. Statement-2:  There is no lecture after 

lecture B.
Which one of the following is correct in 
respect of the Question and the Statements?
(a) Statement-1 alone is sufficient to answer 

the Question
(b) Statement-2 alone is sufficient to 

answer the Question
(c) Both Statement-1 and Statement-2 are 

sufficient to answer the Question 
(d) Both Statement-1 and Statement-2 are 

not sufficient to answer the Question
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निम्ननिनित 3 (तीि) प्रश््नाांशोों के निए निर्देशो :  
निम्ननिनित र्ो परिच््छछेर्ों को पनिए औि उिके िीचे 
आिे व्नािे प्रश््नाांशोों के उत्ति र्ीनिए। इि प्रश््नाांशोों के निए 
आपके उत्ति केवि इि परिच््छछेर्ों पि ही आध्नारित होिे 
च्नानहए।

परिच््छछेर्-1 नकसी आनर्थ्तक सांग्ठि में, म्नािव को मशोीिों 
की उत्प्नार्कत्ना से ि्नाभ्नाक्न्वत होिे क्ना अवसि नमिे, तो 
यह उसे र्ुिसत के बहुत अच््छछे िीवि की ओि िे ि्ना 
सकती है, औि बौनधिक गनतनवनधयों तर्थ्ना रुनचय्नाँ िििे 
व्नािे िोगों को ्छोड़कि, म्नािव के निए अनधक र्ुिसत 
उब्नाऊ हो सकती है। अगि र्ुिसत में िीिे व्नािी 
ििसांख्य्ना को िुशो िहि्ना है, तो इसे आवश्यक रूप से 
नशोनक्त ििसांख्य्ना होिी च्नानहए, औि आिन्र् िेिे की 
र्ृक्ष्ट से तर्थ्ना स्नार्थ ही स्नार्थ तकिीकी ज््नाि की प्रत्यक् 
उप्नार्ेयत्ना की र्ृक्ष्ट से नशोनक्त होिी च्नानहए ।

Q 51. निम्ननिनित कर्थिों में से कौि-स्ना एक इस परिच््छछेर् के 
अन्तनि्तनहत स्वि को सववोत्तम रूप में प्रनतनबक््बबत कित्ना 
है?

(a) केवल नशनक्षत जनोसंख््या ही आनथ्भक प्रगनत के लाभों का 
सवपोत्त्म उप्यरोग कर सकती है। 

(b) सभी आनथ्भक नवकास का लक्ष्य फुरसत का ननो्मा्भण हरोनोा 
र्ानहए।

(c) नकसी देश की नशनक्षत जनोसंख््या ्में वृनद्ध इसके लरोगों 
करो उनो्में खुशी की वृनद्ध की ओर ले जाती है I 

(d) ्मशीनोों के उप्यरोग करो प्ररोत्सानहत करनोा र्ानहए तानक इससे 
फुरसत ्में जीनो ेवाली बड़ी जनोसखं््या का सजृनो हरो ।

परिच््छछेर्-2अगि उपह्नाि अब, िबनक हम बड़छे हो चुके हैं, 
हममें कम िोम्नाांच पैर््ना किते हैं, तो शो्नायर् यह इसनिए है 
नक हम्नािे प्नास पहिे से ही बहुत कु्छ है; य्ना शो्नायर् यह 
इसनिए है नक हम र्ेिे के आिांर् की पूण्तत्ना को, औि 
इसके स्नार्थ ही प्नािे के आिांर् की पूण्तत्ना को भी, िो चुके 
हैं। बच्चों के डि पैिे होते हैं, उिके र्ुःि तीव्र होते हैं, 
िेनकि वे बहुत आगे तक य्ना बहुत पी्छछे तक िहीं र्ेि 
प्नाते। उिके आिांर् स्पष्ट औि पूण्त होते हैं, क्योंनक अभी 
उन्होंिे हि नवच्नाि्नार्थ्त नवषय पि हमेशो्ना 'नकन्तु' िोड़ि्ना िहीं 
सीि्ना है। स्बभवतः हम अत्यनधक स्नावध्नाि, अत्यनधक 

आशोांनकत, अत्यनधक सांशोयी हैं। शो्नायर् हम्नािी कु्छ 
पिेशो्नानिय्नाँ घट ि्नाएँ अगि हम उिके नवषय में कम सोचें, 
औि अपिे म्नाग्त में आिे व्नािी िुशोी क्ना आिांर् अनधक 
एकनिष््ठ होकि उ्ठ्नाए ।

Q 52. इस परिच््छछेर् क्ना सन्र्भ्त िेते हुए निम्ननिनित कर्थिों में 
से कौि-स्ना एक सही है ?

(a) (a) व्यस्कों के नलए उपहारों से ररो्मांनर्त ्महसूस 
करनोा संभव नोहीं है।

(b) उपहारों से व्यस्कों के क्म ररो्मांनर्त ्महसूस करनोे के 
एक से अनधक कारण हरो सकते हैं।

(c) लेखक करो ्यह पता नोहीं है नक व्यस्क उपहारों से क्म 
ररो्मांनर्त ्त्यों ्महसूस करते हैं।

(d) व्यस्कों ्में प्रे्म करनोे ्या प्रे्म नकए जानोे के आनोंद करो 
्महसूस करनोे की क्म क्ष्मता हरोती है।

Q 53. इस परिच््छछेर् क्ना िेिक नकसके नवरुधि है ?

(a) अतीत और भनवष््य के बारे ्में अत््यनधक नर्न्ता करनोा
(b) उपहारों के बारे ्में सरोर्नोे की आदत के वशीभूत हरोनोा
(c) नोई र्ीजों से ररो्मांनर्त नो हरोनोा
(d) केवल आंनशक रूप ्में आनोंद देनोा ्या प्राप्त करनोा

Q 54. म्नाि िीनिए A, B औि C शोून्येति हैं औि नभन्न अांकों 
को निरूनपत किते हैं। म्नाि िीनिए A, B औि C से, 
नबि्ना नकसी अांक को र्ुब्नाि्ना प्रयोग नकए, बिी 3-अांक 
की सभी सांभव सांख्य्नाओं क्ना योग x है। निम्ननिनित 
कर्थिों पि नवच्नाि कीनिए:

1. x का 4- अंकी्य लर्ुत्म ्मानो 1332 है। 

2. x का 3-अंकी्य ्महत्त्म ्मानो 888 है। 

उपयु्तक्त कर्थिों में से कौि-स्ना /से सही है/हैं?

(a) केवल 1
(b) केवल 2
(c) 1 और 2 दरोनोों
(d) नो तरो 1 और नो ही 2
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Directions for the following 3 (three) items: 
Read the following two passages and answer 
the items that follow the passages. Your 
answers to these items should be based on the 
passages only.

Passage-1 In an economic organization, 
allowing mankind to benefit by the 
productivity of machines should lead to a very 
good life of leisure, and much leisure is apt to 
be tedious except to those who have intelligent 
activities and interests. If a leisured population 
is to be happy, it must be an educated 
population, and must be educated with a view 
to enjoyment as well as to the direct usefulness 
of technical knowledge.

Q 51. Which of the following statements best 
reflects the underlying tone of the passage?
(a) Only an educated population can best make 

use of the benefits of economic progress.
(b) All economic development should be 

aimed at the creation of leisure.
(c) An increase in the educated population 

of a country leads to an increase in the 
happiness of its people.

(d) Use of machines should be encouraged in 
order to create a large leisured population.

Passage-2 If presents bring less thrill 
now that we are grown up, perhaps it is 
because we have too much already; or 
perhaps it is because we have lost the 
fullness of the joy of giving, and with it 
the fullness of the joy of receiving. 
Children's fears are poignant, their 
miseries are acute, but they do not look 
too forward nor too far backward. Their 
joys are clear and complete, because they 
have not yet learnt always to add 'but' to 
every proposition. Perhaps we are too 
cautious, too anxious, too sceptical. 

Perhaps some of our cares would shrink 
if we thought less about them and entered 
with more single- minded enjoyment 
into the happiness that come our way.

Q 52. With reference to the passage, which one 
of the following statements is correct?

(a) It is not possible for adults to feel 
thrilled by presents.

(b) There can be more than one reason why 
adults feel less thrilled by presents.

(c) The author does not know why adults 
feel less thrilled by presents.

(d) Adults have less capacity to feel the joy 
of loving or being loved.

Q 53. The author of the passage is against

(a) worrying too much about the past and 
future

(b) being in the habit of thinking about 
presents

(c) not being thrilled by new things
(d) giving and receiving joy only partially 

and 

Q 54. Let A, B and C represent distinct non-
zero digits. Suppose x is the sum of all 
possible 3-digit numbers formed by A, B 
and C without repetition.

Consider the following statements:

1. The 4-digit least value of x is 1332.
2. The 3-digit greatest value of x is 888.

Which of the above statements is/are 
correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
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Q 55. एक सांख्य्ना आध्नारित त्नाि्ना है, निसके निए 3-अांक की 
वैयक्क्तक अनभज््नाि सांख्य्ना (नपि) है। नपि में से 7 तक 
अांक हैं। कोई अांक र्ोब्नाि्ना िहीं आत्ना । नपि के अांक ब्नाएँ 
से र््नानहिे तिर् घटते हुए क्रम में हैं। नपि के नकन्हीं र्ो 
अांकों के बीच कम से कम 2 क्ना अांति है। अनधकतम 
नकतिे प्रय्नासों में नपि क्ना निक्श्चत पत्ना िग्नाय्ना ि्ना 
सकत्ना है?

(a) 6
(b) 8
(c) 10 
(d) 12

Q 56. 56. नकसी वृत्त पि एक सम्नाि र्ूिी व्नािे आ्ठ नबन्र्ु हैं। 
इि नबन्र्ुओं को शोीष्त औि व्य्नास को एक भुि्ना िेकि 
नकतिे समकोण नरिभुि िींचे ि्ना सकते हैं?

(a) 24
(b) 
(c) 12 
(d) 8

Q 57. 24 पुरुष औि 12 मनहि्नाएँ एक क्नाम को 30 नर्िों में पूि्ना 
कि सकते हैं। 12 पुरुष औि 24 मनहि्नाएँ उसी क्नाम को 
नकतिे नर्िों में पूि्ना किेंगे?

(a) 30 नदनो

(b) 30 से अनधक नदनो

(c) 30 से क्म नदनो ्या 30 से अनधक नदनो

(d) करोई ननोष्कि्भ ननोकालनोे के नलए आँकड़े अप्या्भप्त हैं

Q 58. 91 × 92 × 93 × 94 × 95 × 96 × 97 × 98 × 99 को 
1261 से भ्नाग र्ेिे पि शोेषर्ि क्य्ना होग्ना?

(a) 3
(b) 2
(c) 1
(d) 0

Q 59. 20 cm ि्बबी औि 8 cm चौड़ी आयत्नाक्नाि च्नार्ि के 
ब्नािे में निम्ननिनित कर्थिों पि नवच्नाि कीनिए:

1. इस र्ादर करो ठीक-ठीक 4 वगा्भकार र्ादरों ्में काटनोा 
सम्भव है। 

2. इस र्ादर करो स्मानो क्षेत्रफल वाले 10 नत्रभुजाकार 
र्ादरों ्में काटनोा सम्भव है।

उपयु्तक्त कर्थिों में से कौि-स्ना /से सही है/हैं?

(a) केवल 1
(b) केवल 2
(c) 1 और 2 दरोनोों
(d) नो तरो 1 और नो ही 2

Q 60. िब एक सांख्य्ना x क्ना 70% एक अन्य सांख्य्ना y में िोड़्ना 
ि्नात्ना है, तो उिक्ना योग y के म्नाि क्ना 165% हो ि्नात्ना है। 
िब सांख्य्ना x क्ना 60% एक अन्य सांख्य्ना z में िोड़्ना ि्नात्ना 
है, तो उिक्ना योग z के म्नाि क्ना 165% हो ि्नात्ना है। 
निम्ननिनित में से कौि-स्ना एक सही है ?

(a) z < x < y
(b) x < y < z
(c) y < x < z
(d) z < y < x

निम्ननिनित 3 (तीि) प्रश््नाांशोों के निए निर्देशो:

निम्ननिनित र्ो परिच््छछेर्ों को पनिए औि उिके िीचे 
आिे व्नािे प्रश््नाांशोों के उत्ति र्ीनिए। इि प्रश््नाांशोों के निए 
आपके उत्ति केवि इि परिच््छछेर्ों पि ही आध्नारित होिे 
च्नानहए।

परिच््छछेर्-1अनधक्नाांशो िोग, िो अपिी िरूितों के निए 
पय्ना्तप्त धि सांनचत कििे में असर्ि िहते हैं, स्नाम्नान्य तौि 
पि र्ूसिों की ि्नाय से आस्नािी से प्रभ्नानवत हो ि्नाते हैं। वे 
अपिे निए सोचिे क्ना क्नाम सम्नाच्नाि-परिों औि गपोनड़ये 
पड़ोनसयों पि ्छोड़छे िहते हैं। ि्नाय पृ्थ्वी पि सबसे सस्ती 
वस्तु है। हि नकसी के प्नास, नकसी के भी च्नाहिे पि र्ेिे के 
निए, िो भी उन्हें म्नाििे को तैय्नाि हो, ि्नाय क्ना ििीि्ना 
तैय्नाि िहत्ना है। िब आप नकसी निण्तय पि पहुँचते समय 
िोगों की ि्नाय से प्रभ्नानवत होते हैं, तो आप नकसी भी 
उपक्रम में सर्ि िहीं हो सकेंगे।
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Q 55. There is a numeric lock which has a 3-digit 
PIN. The PIN contains digits 1 to 7. There is 
no repetition of digits. The digits in the PIN 
from left to right are in decreasing order. 
Any two digits in the PIN differ by at least 2. 
How many maximum attempts does one 
need to find out the PIN with certainty?

(a) 6 
(b) 8
(c) 10  
(d) 12

Q 56. There are eight equidistant points on a 
circle. How many right-angled triangles 
can be drawn using these points as 
vertices and taking the diameter as one 
side of the triangle?

(a) 24
(b) 16
(c) 12
(d) 8

Q 57. 24 men and 12 women can do a piece of 
work in 30 days. In how many days can 
12 men and 24 women do the same piece 
of work?

(a) 30 days
(b) More than 30 days
(c) Less than 30 days or more than 30 days
(d) Data is inadequate to draw any conclusion

Q 58. What is the remainder when 91 × 92 × 93 × 
94 × 95 × 96 × 97 × 98 × 99 is divided by 
1261?

(a) 3
(b) 2
(c) 1
(d) 0

Q 59. Consider the following statements in 
respect of a rectangular sheet of length 
20 cm and breadth 8 cm:
1. It is possible to cut the sheet exactly into 

4 square sheets.
2. It is possible to cut the sheet into 10 

triangular sheets of equal area.
Which of the above statements is/are 
correct?
(a) 1 only  
(b) 2 only
(c) Both 1 and 2 
(d) Neither 1 nor 2

Q 60. When 70% of a number x is added to another 
number y, the sum becomes 165% of the value of 
y. When 60% of the number x is added to another 
number z, then the sum becomes 165% of the 
value of z. Which one of the following is correct?

(a) z < x < y 
(b) x < y < z
(c) y < x < z 
(d)  z < y < x

Directions for the following 3 (three) items: 
Read the following two passages and answer 
the items that follow the passages. Your 
answers to these items should be based on the 
passages only.
Passage-1 The majority of people who fail to 
accumulate money sufficient for their needs, 
are generally, easily influenced by the 
opinions of others. They permit the 
newspapers and the gossiping neighbours to 
do their thinking for them. Opinions are the 
cheapest commodities on the earth. Everyone 
has a flock of opinions ready to be wished 
upon by anyone who will accept them. If you 
are influenced by opinions when you reach 
decisions, you will not succeed in any 
undertaking.
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Q 61. इस परिच््छछेर् से निम्ननिनित में से क्य्ना उपिनक्त है? 

(a) अनधकांश लरोग अपनोी जरूरतों के नलए धनो सनंर्त नोहीं करते।
(b) अनधकांश लरोग अपनोी जरूरतों के नलए धनो संनर्त 

करनोे ्में कभी असफल नोहीं रहते। 
(c) ऐसे लरोग भी हैं जरो अपनोी जरूरतों के नलए धनो संनर्त 

करनोे ्में असफल रह जाते हैं।
(d) धनो संनर्त करनोे की करोई जरूरत नोहीं है।

Q 62. इस परिच््छछेर् क्ना मुख्य नवच्नाि क्य्ना है?
(a) लरोगों करो दूसरों की रा्य से प्रभानवत नोहीं हरोनोा र्ानहए।
(b) लरोगों करो ्यथासम्भव अनधकानधक धनो सनंर्त करनोा र्ानहए। 
(c) लरोगों करो नो तरो रा्य देनोी र्ानहए, नो ही लेनोी र्ानहए।
(d) लरोग नकसी भी उपक्र्म ्में सफल हरो जाएँगे, अगर वे करोई 

भी रा्य नबलकुल नो लें।

परिच््छछेर् - 2 'स्नाम्नानिक व्यवस्र्थ्ना एक पनवरि अनधक्नाि 
है िो अन्य सभी अनधक्नािों क्ना आध्नाि है। तर्थ्नानप, यह 
अनधक्नाि प्रककृनत से िहीं आत्ना, औि इसनिए इसको 
परिप्नानटयों पि आध्नारित होि्ना च्नानहए।"

Q 63. उपयु्तक्त परिच््छछेर् क्ना सन्र्भ्त िेते हुए निम्ननिनित 
कर्थिों में से कौि-स्ना/से सही है/हैं?
1. पररपानट्याँ ्मनोुष््य के अनधकारों के स्रोत हैं।
2. ्मनोुष््य के अनधकारों का केवल तभी प्र्यरोग नक्या जा 

सकता है, जब एक सा्मानजक व््यवस्था हरो ।
िीचे नर्ए गए कूट क्ना प्रयोग कि सही उत्ति चुनिए ।
(a) केवल 1
(b) केवल 2
(c) 1 और 2 दरोनोों
(d) नो तरो 1 और नो ही 2

Q 64. र्ो उ्बमीर्व्नािों, X औि Y िे एक निव्ना्तचि में भ्नाग 'निय्ना। 
80% िोगों िे मतर््नाि नकय्ना औि कोई अवैध मत िहीं 
हुआ। NOTA (उपयु्तक्त में से कोई िहीं) क्ना नवकल्प 
िहीं र्थ्ना। मतर््नाि में पड़छे कुि मतों क्ना 56% मत X को 
नमि्ना औि वह 1440 मतों से िीत गय्ना। मतर््नात्ना सूची 
में मतर््नात्नाओं की कुि नकतिी सांख्य्ना है ?

(a) 15000
(b) 12000
(c) 9600
(d) 5000

Q 65. 1000 से बड़ी वह िघुतम सांख्य्ना कौि-सी है निसे 6, 9, 
12, 15, 18 में से नकसी एक से भी नवभ्नानित किें, तो 
शोेषर्ि 3 बचे?

(a) 1063
(b) 1073
(c) 1083
(d) 1183

Q 66. म्नाि िीनिए p र्ो अांकों की एक सांख्य्ना है औि उन्हीं q 
अांकों को उिटछे क्रम में निििे से बिी सांख्य्ना है। यनर् 
p×q = 2430, तो p औि q के बीच क्ना अन्ति क्य्ना है?

(a) 45
(b) 27
(c) 18
(d) 9

Q 67. र्ो धिपूण्त सांख्य्नाओं p औि q के ब्नािे में, िो इस प्रक्नाि हैं 
नक p अभ्नाज्य औि q भ्नाज्य सांख्य्ना है, निम्ननिनित 
कर्थिों पि नवच्नाि कीनिए :

1. p×q नवि्म संख््या हरो सकती है।
2. q/p अभाज््य संख््या हरो सकती है।
3. p + q अभाज््य संख््या हरो सकती है।

उपयु्तक्त कर्थिों में से कौि-से सही हैं ?

(a) केवल 1 और 2
(b) केवल 2 और 3
(c) केवल 1 और 3
(d) 1, 2 और 3
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Q 61. Which one of the following is implied by 
the passage?
(a) Most of the people do not accumulate 

money for their needs.
(b) Most of the people never fail to 

accumulate money for their needs.
(c) There are people who fail to accumulate 

money for their needs.
(d) There is no need to accumulate money.

Q 62. What is the main idea of the passage? 
(a) People should not be influenced by the 

opinions of others.
(b) People should accumulate as much 

money as they can. 
(c) People should neither give nor accept 

the opinions. 
(d) People will succeed in any undertaking 

if they do not accept any opinion at all. 
Passage-2 'The social order is a sacred 
right which is the basis of all other 
rights. Nevertheless, this right does not 
come from nature, and must therefore be 
founded on conventions.'

Q 63. With reference to the above passage, 
which of the following statements is/are 
correct?
1. Conventions are the sources of rights of man.
2. Rights of man can be exercised only 

when there is a social order.
Select the correct answer using the code 
given below.
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

Q 64. Two candidates X and Y contested an 
election. 80% of voters cast their vote and 
there were no invalid votes. There was 
no NOTA (None of the above) option. X 

got 56% of the votes cast and won by 1440 
votes. What is the total number of voters 
in the voters list?

(a) 15000
(b) 12000
(c) 9600
(d) 5000

Q 65. What is the smallest number greater 
than 1000 that when divided by any one 
of the numbers 6, 9, 12, 15, 18 leaves a 
remainder of 3?

(a) 1063
(b) 1073
(c) 1083
(d) 1183

Q 66. Let p be a two-digit number and q be the 
number consisting of same digits written 
in reverse order. If p×q=2430, then what 
is the difference between p and q?

(a) 45
(b) 27
(c) 18
(d) 9

Q 67. Consider the following statements in 
respect of two natural numbers p and q 
such that p is a prime number and q is a 
composite number : 

1. p×q can be an odd number.
2. q/p can be a prime number.
3. p+q can be a prime number.

Which of the above statements are correct?

(a) 1 and 2 only 
(b) 2 and 3 only
(c) 1 and 3 only 
(d) 1, 2 and 3
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Q 68. निम्ननिनित कर्थिों पि नवच्नाि कीनिए :

1. अपराह्न 3:16 बजे और अपराह्न 3:17 बजे के बीर् र्ड़ी 
की र्ंटे की सूई और न्मनोट की सूई एक साथ न्मलती है।

2. अपराह्न 4:58 बज ेऔर अपराह्न 4:59 बज ेके बीर् र्ड़ी 
की न्मनोट की सईू और सेकण्ड की सईू एक साथ न्मलती ह।ै 

उपयु्तक्त कर्थिों में से कौि-स्ना /से सही है/हैं?

(a) केवल 1   
(b) केवल 2
(c) 1 और 2 दरोनोों  
(d) नो तरो 1 और नो ही 2

Q 69. X औि Y र्ो प्नारि हैं। X में 100 ml र्ूध है औि Y में 100 
ml प्नािी है। X में से 20 ml र्ूध निक्नािकि Y में ड्नाि्ना 
ि्नात्ना है। इन्हें अच््छी तिह नमि्नाकि, Y क्ना 20 ml 
नमश्ण निक्नािकि व्नापस X में नमि्नाय्ना ि्नात्ना है । यनर् 
X में र्ूध क्ना अिुप्नात m से निनर््तष्ट होत्ना है औि Y में 
िि क्ना अिुप्नात n से निनर््तष्ट होत्ना है, तो निम्ननिनित 
में से कौि-स्ना एक सही है ?

(a) m = n
(b) m > n 
(c) m < n
(d) अप्या्भप्त आँकड़ों के कारण ननोधा्भररत नोहीं नक्या जा 

सकता

Q 70. कोई वृत्त्नािेि नकसी गृहस्र्थी में प्नाँच नभन्न मर्ों A, B, C, 
D औि E पि हुआ व्यय बत्नात्ना है। यनर् B, C, D औि E 
क्रमशोः 900₹, 50₹0, 450₹ तर्थ्ना 75₹0 के सांगत हों, तो मर् A 
पि व्यय क्ना प्रनतशोत नकति्ना है?

(a)  112/9

(b) 125/6

(c) 155/9

(d) 250/9

निम्ननिनित 3 (तीि) प्रश््नाांशोों के निए निर्देशो :
निम्ननिनित र्ो परिच््छछेर्ों को पनिए औि उिके 
िीचे आिे व्नािे प्रश््नाांशोों के उत्ति र्ीनिए। इि 
प्रश््नाांशोों के निए आपके उत्ति केवि इि परिच््छछेर्ों 
पि ही आध्नारित होिे च्नानहए। 

परिच््छछेर्-1 अिुसांध्नाि को प्रोत्स्नानहत किि्ना नकसी 
नवश्वनवद््नािय के क्नायथों में से एक है। समक्नािीि 
नवश्वनवद््नाियों िे अिुसांध्नाि को प्रोत्स्नानहत नकय्ना 
है, ि केवि उि म्नामिों में िह्नाँ अिुसांध्नाि 
आवश्यक है, बक्ल्क सभी प्रक्नाि के पूण्त अि्नाभकि 
नवषयों में भी । वैज््नानिक अिुसांध्नाि सांभवतः कभी 
भी पूिी तिह मूल्यहीि िहीं होत्ना । यह निति्ना भी 
मूि्तत्नापूण्त औि महत्तवहीि िगे, अिुसांध्नािकत्ना्तओं 
क्ना श्म निति्ना भी य्नाांनरिक औि अबौनधिक हो, एक 
ऐस्ना मौक्ना हमेशो्ना ही िहत्ना है नक प्रनतभ्ना के अन्वेषक 
के निए उसके परिण्नाम महत्तव के हों, िो प्रेिण्नाहीि 
नकन्तु मेहिती अिुसांध्नािकत्ना्तओं द््नाि्ना अपिे निए 
एकनरित त्थ्यों को नकसी स्नािभूत स्नाम्नान्यीकिण के 
आध्नाि के रूप में इस्तेम्नाि कि सके। नकन्तु, िह्नाँ 
अिुसांध्नाि मौनिक िहीं है, औि नसर््फ नवद्म्नाि 
स्नामनग्यों को नर्ि से व्यवक्स्र्थत कििे के रूप में 
बि्ना है, िह्नाँ इसक्ना उदे्श्य वैज््नानिक ि होकि 
स्नानहक्त्यक य्ना ऐनतह्नानसक है, तो यह आशोांक्ना है नक 
यह पूि्ना क्नाय्त नििर्थ्तक बि कि िह ि्नाए।

Q 71. वैज््नानिक अिुसांध्नाि के ब्नािे में िेिक की पूव्तध्नािण्ना यह 
नक -
(a) ्यह कभी भी बहुत ्मूल््यवानो नोहीं हरोता
(b) ्यह कभी-कभी बहुत ्मूल््यवानो हरोता है।
(c) ्यह कभी भी कुछ-नो-कुछ ्मूल््य के नबनोा नोहीं हरोता
(d) ्यह ह्मेशा ही बहुत ्मूल््यवानो हरोता है।

Q 72. िेिक के अिुस्नाि

(a) नकसी प्रबुद्ध अन्वेिक के नलए बहुत से अनोुसंधानो 
पररणा्म ्महत्तव के नोहीं हरो सकते

(b) नकसी प्रबुद्ध अन्वेिक के नलए करोई भी अनोुसंधानो 
पररणा्म ह्मेशा ही ्महत्तव का हरोता है। 

(c) नकसी प्रबुद्ध अन्वेिक के नलए करोई भी अनोुसंधानो 
पररणा्म ्महत्तव का हरो सकता है

(d) नकसी प्रबुद्ध अन्वेिक के नलए करोई भी अनोुसंधानो 
पररणा्म ह्मेशा ही कुछ ्महत्तव का हरोनोा र्ानहए
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Q 68. Consider the following statements:

1. Between 3:16 p.m. and 3:17 p.m., both 
hour hand and minute hand coincide.

2. Between 4:58 p.m. and 4:59 p.m., both 
minute hand and second hand coincide.

Which of the above statements is/are 
correct?

(a) 1 only  
(b)  2 only
(c) Both 1 and 2 
(d) Neither 1 nor 2

Q 69. There are two containers X and Y. X 
contains 100 ml of milk and Y contains 100 
ml of water. 20 ml of milk from X is 
transferred to Y. After mixing well, 20 ml 
of the mixture in Y is transferred back to X. 
If m denotes the proportion of milk in X 
and n denotes the proportion of water in Y, 
then which one of the following is correct?

(a) m=n
(b) m>n
(c) m<n
(d) Cannot be determined due to insufficient 

data

Q 70. A pie chart gives the expenditure on five 
different items A, B, C, D and E in a 
household. If B, C, D and E correspond to 90₹0, 
500₹, 450₹ and 750₹ respectively, then what is the 
percentage of expenditure on item A? 

(a) 112/9
(b) 125/6
(c) 155/9
(d) 250/9

Directions for the following 3 (three) 
items:

Read the following two passages and answer 
the items that follow the passages. Your 
answers to these items should be based on the 
passages only. 
Passage-1 To encourage research is one of 
the functions of a university. Contemporary 
universities have encouraged research, not 
only in those cases where research is 
necessary, but on all sorts of entirely 
unprofitable subjects as well. Scientific 
research is probably never completely 
valueless. However silly and insignificant it 
may seem, however mechanical and 
unintelligent the labours of the researchers, 
there is always a chance that the results may 
be of value to the investigator of talent, who 
can use the facts collected for him by 
uninspired but industrious researchers as 
the basis of some fruitful generalization. But 
where research is not original, but consists in 
the mere rearrangement of existing 
materials, where its object is not scientific but 
literary or historical, then there is a risk of 
the whole business becoming merely futile. 

Q 71. The author's assumption about scientific 
research is that 
(a) it is never very valuable
(b) it is sometimes very valuable
(c) it is never without some value 
(d) it is always very valuable

Q 72. According to the author

(a) not many research results can be of 
value to an intelligent investigator

(b) a research result is always valuable to 
an intelligent investigator 

(c) any research result can be of value to an 
intelligent investigator

(d) a research result must always be of some 
value to an intelligent investigator
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परिच््छछेर्-2ब्नाि औि सूिे की समस्य्नाओं क्ना सबसे 
अच््छ्ना सम्नाध्नाि कैसे नकय्ना ि्ना सकत्ना है नक िुकस्नाि 
कम-से-कम हों औि तांरि िचीि्ना बि ि्नाए? इस प्रसांग 
में एक महत्तवपूण्त नबन्र्ु, निस पि ध्य्नाि नर्य्ना ि्नाि्ना 
च्नानहए, वह यह है नक भ्नाित में 120 नर्िों (िूि से 
नसत्बबि तक) के र्ौि्नाि 'अत्यनधक' (व्नानष्तक वष्ना्त 
क्ना 75% ) िि प्र्नाप्त होत्ना है, औि शोेष 245 नर्िों 
के र्ौि्नाि 'अत्यल्प' िि प्र्नाप्त होत्ना है। िि 
उपिब्धत्ना की इस नवषम क्स्र्थनत को इस तिह 
प्रबांनधत औि नवनियनमत नकय्ना ि्नाि्ना है, त्नानक वष्त 
भि िि क्ना उपभोग बि्ना िहे।

Q 73. निम्ननिनित में स ेकौि-स्ना एक व्य्नावह्नारिक, तक्फसांगत औि 
नटक्नाऊ सम्नाध्नाि को सववोत्तम रूप स ेप्रनतनबक््बबत कित्ना ह?ै

(a) पूरे देश ्में कंक्रीट की नवशाल भण्डारण टंनक्यों और 
नोहरों का ननो्मा्भण करनोा

(b) फसल लेनोे के स्वरूपों और ककृनि प्रथाओं ्में बदलाव 
लानोा

(c) पूरे देश ्में नोनद्यों करो आपस ्में जरोड़नोा 
(d) बाँधों और जलभरों के जररए जल का सुरनक्षत भण्डार 

(बफर) रखनोा

Q 74. 74. यनर् 15×14 × 13×... ×3×2×1 = 3m ×n िह्ना ँm. 
औि n धि्नात्मक पणू्नाांक हैं, तो m क्ना महत्तम म्नाि क्य्ना है?

(a) 7
(b) 6
(c) 5
(d) 4

Q 75. अिुक्रम 2, 12, 36, 80, 150, X में x क्ना म्नाि क्य्ना है ?

(a) 248
(b) 252
(c) 258
(d) 262

Q 76. एक शोून्येति अांक, अांग्ेिी वण्तम्नाि्ना से एक स्वि औि 
एक व्यांिि (कैनपटि में) प्नासवड्ड बि्नािे में इस तिह 
प्रयुक्त नकए ि्नािे हैं नक हि प्नासवड्ड स्वि से शोुरू हो औि 
व्यांिि पि सम्नाप्त हो । ऐसे नकतिे प्नासवड्ड बि्नाए ि्ना 
सकते हैं?

(a) 105
(b) 525 
(c) 945
(d) 1050

Q 77. नकसी मेि पि 9 प्य्नािे इस तिह सि्नाकि ििे हैं नक 
उिकी पांक्क्तयों औि कॉिमों की सांख्य्ना सम्नाि है। इिमें 
से 6 प्य्नािों में कॉर्ी औि 3 प्य्नािों में च्नाय है। इन्हें 
नकतिी प्रक्नाि से इस तिह िि्ना ि्ना सकत्ना है नक प्रत्येक 
पांक्क्त में कम-से-कम एक कॉर्ी क्ना प्य्नाि्ना हो ?

(a) 18
(b) 27
(c) 54
(d) 81

Q 78. तीि क्रम्नागत पूण्नाांकों क्ना योग उिके गुणिर्ि के 
बि्नाबि हो, ऐसी नकतिी सांभ्नावि्नाएँ हो सकती हैं?

(a) केवल एक
(b) केवल दरो
(c) केवल तीनो
(d) ऐसी करोई संभावनोा नोहीं है

Q 79.  0. XY रूप की नकतिी सांख्य्नाएँ हैं, िह्नाँ X औि Y नभन्न 
शोून्येति अांक हैं ?

(a) 72
(b) 81
(c) 90
(d) 100

Q 80. A, B, C क्ना औसत भ्नाि 40 kg है; B, D, E क्ना औसत 
भ्नाि 42 kg है औि F क्ना भ्नाि B के भ्नाि के बि्नाबि है। 
A, B, C, D, E औि F क्ना औसत भ्नाि क्य्ना है ?

(a) 40.8 kg
(b) 40.5kg
(c) 41 kg
(d) ननोधा्भररत नोहीं नक्या जा सकता ्त्योंनक आँकड़े अप्या्भप्त 

हैं
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Passage-2 How best can the problems of 
floods and droughts be addressed so that the 
losses are minimal and the system becomes 
resilient? In this context, one important point 
that needs to be noted is that India gets too 
much' water (about 75% of annual 
precipitation) during 120 days (June to 
September) and 'too little' for the remaining 
245 days. This skewed water availability has 
to be managed and regulated for its 
consumption throughout the year.

Q 73. Which one of the following best reflects the 
practical, rational and lasting solution?
(a) Constructing huge concrete storage 

tanks and canals across the country
(b) Changing the cropping patterns and 

farming practices
(c) Interlinking of rivers across the country
(d) Buffer stocking of water through dams 

and recharging aquifers

Q 74. If 15×14 × 13×... ×3×2×1 = 3m ×n where m 
and n are positive integers, then what is 
the maximum value of m?
(a) 7 
(b) 6
(c) 5 
(d) 4

Q 75. What is the value of X in the sequence 2, 
12, 36, 80, 150, X? 

(a) 248
(b) 252
(c) 258
(d) 262

Q 76. One non-zero digit, one vowel and one 
consonant from English alphabet (in capital) 
are to be used in forming passwords, such 
that each password has to start with a vowel 
and end with a consonant. How many such 
passwords can be generated?

(a) 105
(b) 525
(c) 945
(d) 1050

Q 77. There are 9 cups placed on a table arranged 
in equal number of rows and columns out of 
which 6 cups contain coffee and 3 cups 
contain tea. In how many ways can they be 
arranged so that each row should contain at 
least one cup of coffee?
(a) 18
(b) 27
(c) 54
(d) 81

Q 78. The sum of three consecutive integers is 
equal to their product. How many such 
possibilities are there?
(a) Only one
(b) Only two
(c) Only three
(d) No such possibility is there

Q 79. What is the number of numbers of the 
form 0. XY, where X and Y are distinct 
non-zero digits?

(a) 72  
(b) 81
(c) 90 
(d) 100

Q 80. The average weight of A, B, C is 40 kg, the 
average weight of B, D, E is 42 kg and the 
weight of F is equal to that of B. What is 
the average weight of A, B, C, D, E and F?

(a) 40.5 kg
(b) 40.8 kg
(c) 41 kg
(d) Cannot be determined as data is 

inadequate


